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Question Number : 1 Question Id : 71087010807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which school of thought laid down one of the principles of teacher and learner role as follows,

"The teacher's role is not to direct, but to advise because the child's own interest should
determine what he learns”

1. Perennialism

2. Progressionism

3. Essentialism

4. Reconstructionism
Options :
71087043081. 1
71087043082. 2
71087043083. 3
71087043084. 4

Question Number : 1 Question Id : 71087010807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fR1&id Td HfRHEGl & YfHDT & 9R) H by [daR g8ies A sfeifaiad Reia &1 wiaues
T -

“fR1aid B YT FEID &1 7 5ib WRHRIGRN Bidl &, Id: HERHE! SIad &l ©id i 98
FeiRd &1 g fop 39 digr g1 -

1. FAMHddlq

2. WTfddig

3. gRUleddG
4. GREAEG

Options :

71087043081. 1
71087043082. 2
71087043083. 3
71087043084. 4

Question Number : 2 Question Id : 71087010808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the list given below, identify those features which relate to an approach to teaching and
learning in indirect strategies of teaching

A. Engagement in an inquiring process

B. Concept-based content presentation

C. Gaining attention and informing the learners of the instructional objective

D. Presenting the stimulus material and stimulating recall of prerequisite learning
E. Encouraging students to use references from their own experiences

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B andE only
4.C, D and E only
Options :
71087043085. 1
71087043086. 2
71087043087. 3
71087043088. 4

Question Number : 2 Question Id : 71087010808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043085. 1
71087043086. 2
71087043087. 3
71087043088. 4

Question Number : 3 Question Id : 71087010809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



For use during teaching, from the list given below, identify questions that are ‘process
type’ rather than ‘content-type’

A. Divergent questions

B. Fact-based questions

C. Concept-based questions

D. Lower order questions

E. Higher-order questions

Choose the correct answer from the options given below:

1.A,Cand E only
2. B, Cand D only
3.C, D and E only
4. B, D and E only
Options :
71087043089. 1
71087043090. 2
71087043091. 3
71087043092. 4

Question Number : 3 Question Id : 71087010809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043089. 1
71087043090. 2
71087043091 3
71087043092. 4

Question Number : 4 Question Id : 71087010810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: Reliability is a necessary but insufficient condition for validity

Statement II: In respect of evaluation tools, validity is not an all or none concept but it exists
as a continuum

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087043093. 1

71087043094. 2

71087043095. 3

71087043096. 4

Question Number : 4 Question Id : 71087010810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043093. 1
71087043094. 2
71087043095. 3
71087043096. 4

Question Number : 5 Question Id : 71087010811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Systems of education which are place-specific, time-specific and person-specific
are said to be formal and are created by laid down law and procedures

Reason R: Open universities and open schools are the example of a formal system of
education because they are created by laid down procedures

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043097. 1
71087043098. 2
71087043099. 3
71087043100. 4

Question Number : 5 Question Id : 71087010811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043097. 1

71087043098. 2

71087043099. 3

71087043100. 4

Question Number : 6 Question Id : 71087010812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following metheods of acquiring knowledge save time and effort on the part of
the researcher?

1. Method of experience

2. Inductive method

3. Deductive method

4. Methed of consulting an authority
Options :

71087043101. 1

71087043102. 2



71087043103. 3
71087043104. 4

Question Number : 6 Question Id : 71087010812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043101. 1

71087043102. 2

71087043103. 3

71087043104. 4

Question Number : 7 Question Id : 71087010813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are features of the qualitative research paradigm?

A. The research is concerned with understanding the social phenomena from the participant's
perspective

B. It seeks to establish relationships, among variables and explains the causes of changes in
measured social facts

C. It is conducted in actual settings as the direct source of data and the researcher is the key
instrument

D. It is concerned with the process rather than simply with outcomes or products
E. It attempts to establish universal context-free generalization
Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, Cand D only
4.C, D and E only
Options :
71087043105. 1
71087043106. 2
71087043107. 3
71087043108. 4

Question Number : 7 Question Id : 71087010813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043105 1
71087043106. 2
71087043107. 3
71087043108. 4

Question Number : 8 Question Id : 71087010814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A researcher administers an achievement test to assess and indicate the possible effect of an
independent variable in his/her study. The distribution of scores on the test is found to be
negatively skewed. On the basis of this, what can be stated with regard to the difficulty level of
the test?

1. The test is very easy

2. The test is very difficult

3. The test is neither easy nor difficult

4. The test is easy and needs normalization
Options :

71087043109. 1

71087043110. 2

71087043111. 3

71087043112. 4

Question Number : 8 Question Id : 71087010814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087043109, 1

71087043110. 2

71087043111. 3

71087043112. 4



Question Number : 9 Question Id : 71087010815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A researcher has to observe codal formalities at all stages without scope and
leeway for offending moral and ethical norms

Reason R: In respect of data collection, data analysis and interpretation there is, however, a
considerable scope of being ethically vulnerable

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043113. 1

71087043114. 2

71087043115.3

71087043116. 4

Question Number : 9 Question Id : 71087010815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043113. 1

71087043114, 2

71087043115. 3

71087043116. 4

Question Number : 10 Question Id : 71087010816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The scope for employing ICT support is relatively more in which of the following stages of
research?

A. Problem formulation

B. Hypothesis making

C. Data collection

D. Data analysis

E. Data interpretation

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.Cand D only
4. D and E only
Options :
71087043117. 1
71087043118. 2
71087043119. 3
71087043120. 4

Question Number : 10 Question Id : 71087010816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043117, 1
71087043118. 2
71087043119. 3
71087043120. 4

Sub-Section Number : 2
Sub-Section Id : 710870308
Question Shuffling Allowed : Yes

Question Id : 71087010817 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Read the given passage carefully and answer the questions that follow
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Transformation is characterized by certain features that clearly differentiate it from other types
of change. First, according to Beckhard, it involves substantial and discontinuous change to the
shape, structure, and nature of the organization, rather than incremental adjustments and fine-
tuning of the current situation. One example of a discontinuous change would be when a firm
changes from being production-driven to being customer-driven. Another would be a merger
of two organizations. In both instances, the shape of the organization can be expected to
change radically. An organization transforming from a preduction orientation to a customer
orientation will need to drastically decentralize and delegate authority. In a merger, entirely
new roles and working relationships will be created.

A second characteristic of transformation is that the need for change is caused by forces
external to the organization rather than forces inside the organization. A typical example
would be when an organization changes from a functional to a divisional structure in response
to market forces or industry pressures in the form of competitor actions or regulatory changes.
Currently, globalization is one of the most powerful external forces for organizational
transformation.

A third distinguishing feature of transformation is that the change is deep and pervasive,
rather than shallow and contained. The change affects all parts of the organization and
involves many levels. Decentralization, downsizing and the geographic relocation of functions
and activities exemplify changes that transform structural relationships deeply and pervasively.

Finally, transformation requires significantly different, and even entirely new, sets of actions by
the members of the organization, rather than more or less of existing behavior patterns.
Examples are changes to the norms and core values of an organization that are brought about
through acquisition, deregulation, and privatization or through a drastic strategic repositioning
such as shifting from a production-efficiency focus to a customer-service strategy.

Sub questions

Question Number : 11 Question Id : 71087010818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to Richard Beckhard, transformation is what kind of change in the
organisational structure?

1. Incremental
2. Discontinuous
3. Finetuning

4, One-time
Options :
71087043121. 1
71087043122. 2
71087043123.3
71087043124. 4

Question Number : 12 Question Id : 71087010819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What happens when two organisations merge?

A. Shape of the organisation will change

B. Product orientation remains the same

C. Drastic decentralisation of authority

D. Discontinuous change does not take place

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only



Options :

71087043125. 1
71087043126. 2
71087043127.3
71087043128. 4

Question Number : 13 Question Id : 71087010820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The pressure of market force can result in

1. Distortion of role perceptions

2. Changing to a functional structure
3. Changing to a divisional structure
4. Deregulation of competitive factors
Options :

71087043129. 1

71087043130. 2

71087043131. 3

71087043132. 4

Question Number : 14 Question Id : 71087010821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the main levels of organizational transformation?
A. Downsizing

B. Geographical relocation

C. Contained changes

D. Power to external forces

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087043133. 1
71087043134. 2
71087043135. 3
71087043136. 4

Question Number : 15 Question Id : 71087010822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does organizational transformation require?

1. Strengthening existing behaviours of members
2. Changes in norms and core values

3. Production-efficiency strategy

4. All pervasive structural relationships

Options :

71087043137. 1

71087043138.2



71087043139. 3
71087043140. 4

Question Id : 71087010817 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087010818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043121. 1
71087043122. 2
71087043123. 3
71087043124. 4

Question Number : 12 Question Id : 71087010819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087043125. 1
71087043126. 2
71087043127. 3
71087043128. 4

Question Number : 13 Question Id : 71087010820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043129. 1

71087043130. 2

71087043131. 3

71087043132, 4

Question Number : 14 Question Id : 71087010821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043133, 1
71087043134. 2
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Question Number : 15 Question Id : 71087010822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
WEIHD T & o0 71 SHURE § 2

1. U&Hl & Udfed 0deR &1 Yoo ol
2. AHI Ud Hdbigd Jcdl § 9gad

3. 3G BT DI WHIT

4. FH TREAHED AT TaY
Options :

71087043137. 1




71087043138. 2
71087043139. 3
71087043140. 4

Sub-Section Number : 3
Sub-Section Id : 710870309
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087010823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The domain of media appeal addresses the issues related to

1. Knowledge
2. Learning

3. Legality

4. Emotions
Options :
71087043141. 1
71087043142.2
71087043143. 3
71087043144. 4

Question Number : 16 Question Id : 71087010823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i arficr @1 oraT g T O G £ 7

Options :



71087043141. 1
71087043142. 2
71087043143. 3
71087043144. 4

Question Number : 17 Question Id : 71087010824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following will make a student a good listener in the classroom?
A. Ability to deflect attention

B. Concentration

C. Desire to understand

D. Emotional outbursts

E. Humility to know

F. Ignoring the other side

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4. B, Cand Eonly
Options :
71087043145. 1
71087043146. 2
71087043147. 3
71087043148. 4



Question Number : 17 Question Id : 71087010824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

DT uRaw # Fgifed 7 € D19 91 yaf faenf &1 Ud =1 411 §H1e
A. I Taditd g &1 &l

B. AHBZUI

C. Aqaly B gl

D. HaTH® fdepie

E. 9 Haelt fasd

F. GO U&l @] JU&T &l

el f[dded &l 994 B ;

1. #dd A, B AR C
2. hdd B, C3RD
3. $Had D, E3RF
4, &dd B, CARE
Options :
71087043145. 1
71087043146, 2
71087043147, 3
71087043148, 4

Question Number : 18 Question Id : 71087010825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Pedagogy and social interaction are two major areas of activity of teachers
Reason R: It is communication that is crucial for making both the activities important

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043149. 1

71087043150. 2

71087043151. 3

71087043152. 4

Question Number : 18 Question Id : 71087010825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR FY RU T E . UF B 3fUHUT (a) 3R T B db (R) Hel T e :

YA (A) : TRI&® & & UHE D1 38 © - & AR DI TSR aul YIS il
R) : 31 GIHI &1 @I Hew@qul 81 eq YN 3dd Hew@qy &l

IRE BYHl & el H Fdifdd el # 3 Faifte 3uged 3w g :

1. (A) 3R (R) GHT TEI € 3IR (R), (A) B! Hel RS 8

2. (A) 3R (R) THT Hal § 3R (R), (A) BT HE! SIRSAT 75l &
3. (A) U8 § U= (R) TTeid g

4. (A) T 8 I (R) TR1 &1



Options :

71087043149. 1
71087043150. 2
71087043151.3
71087043152. 4

Question Number : 19 Question Id : 71087010826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List 1l

Types of listeners Characteristics

A. Poor listeners . Scare others

B. Aggressive listeners . Easily agree with the speaker

. Passive listeners I1l. Listen to ideas, but no emotions behind
D. Pseudo-intellectual IV. Fidget repeatedly

Choose the correct answer from the options given below:

TA-LB-1I,C-1,D-1IV
ZA-1,B-NIL,C-1V,D-I
3A-ILB-IV,C-1,D-1I
4 A-IV,B-1LC-II,D-1
Options :

71087043153. 1
71087043154. 2
71087043155.3
71087043156. 4

Question Number : 19 Question Id : 71087010826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Teil-1 B Gai-1l & 9y Gaferd DI -
| -1l

yiars dUPR  [fa=uay

A AP YA LRI DISAdE
B. THH® il |11 9ad1 T U GgHd ol old &

B S 11, fIaRl &1 Yau & g clid- 35 Bls 419 el
| Bidl

D?-EWW V. SR 39¢ 9HE

frafafad faseal | ¥ ¥gl Sox giHu -

TA-LB-1I,C-1IIL,D-1IV
2ZA-1IL,B-N,C-1V,D-I
3A-IILB-IV,C-1,D-1I
4 A-IV,B-LC-II,D-1I
Options :

71087043153. 1
71087043154. 2
71087043155.3
71087043156. 4

Question Number : 20 Question Id : 71087010827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the following educational communication ventures

in India

A. Krishi Darshan

B. Gyan Darshan

C. Vyas

D. Gyan Vani

Choose the correct answer from the options given below

1. A BCD
2B CDA
3.D,A B C

4. A, D, B, C
Options :
71087043157. 1
71087043158. 2
71087043159. 3
71087043160. 4

Question Number : 20 Question Id : 71087010827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HRd H Aferd T8N0 IumHl & GaH H HEifed & ¥ 98! dIa-uR $4 95U :
A. I8 G
B. M &=

C.aM
D. 4§t
d feu T1u fadedl ¥ 981 IR 9T

1. A BCD
2B CDA
3.D,A B C

4. A, D, B, C
Options :
71087043157. 1
71087043158. 2
71087043159. 3
71087043160. 4

Question Number : 21 Question Id : 71087010828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference of the square of two consecutive even numbers is 84. What is the sum of these
two consecutive even numbers?

1. 34
2. 38
3. 36
4.42
Options :



71087043161. 1
71087043162. 2
71087043163. 3
71087043164. 4

Question Number : 21 Question Id : 71087010828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& HH® 90 =13 & g7 &1 3 84 €1 T &H| H1a® U TEa1s{ S aFT a1 g ?

1. 34

2. 38

3. 36

4.42

Options :
71087043161. 1
71087043162. 2
71087043163. 3
71087043164. 4

Question Number : 22 Question Id : 71087010829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series
0,8, 24,48, __

1.72

2. 96

3.120

4. 80

Options :
71087043165. 1



71087043166. 2
71087043167. 3
71087043168. 4

Question Number : 22 Question Id : 71087010829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafaRad sie g d eFTd 3i® ®I Ugd BT
0,8, 24,48, ___

1.72

2. 96

3.120

4. 80

Options :
71087043165. 1
71087043166. 2
71087043167. 3
71087043168. 4

Question Number : 23 Question Id : 71087010830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mr X is 40 years old and Mr Y is 60 years old. How many years ago was the ratio of their ages
3:57

1. 15 years
2. 10 years
3. 20 years
4, 30 years
Options :



71087043169. 1
71087043170. 2
71087043171. 3
71087043172. 4

Question Number : 23 Question Id : 71087010830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fERE X 1 3 40 T4 & 3R fiRex v @1 3 60 Y 1 [5d- a8 Ugd 39 &1 DI 31 B 391 3
5 YI?

1.15 34
2.10 34
3.20 94
4,30 94
Options :
71087043169. 1
71087043170 2
71087043171. 3
71087043172. 4

Question Number : 24 Question Id : 71087010831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a river from a fixed location, two identical boats start moving up-stream and down-stream,
respectively. The speed of the water current in the river is 3km/hour. If the speed of each of
the boats in still water is 15km/hour, the separation between the boats after 12 minutes will be

1. 3.6 km
2. 5.6 km
3. 6.0 km
4. 7.2 km



Options :

71087043173. 1
71087043174. 2
71087043175. 3
71087043176. 4

Question Number : 24 Question Id : 71087010831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl 1E1 # U i3 =M 9 & o $HRE 98 & URT & fausid SR 781 B 4R B 3R TH
Bl ¢ | AR @1 71d 3 [l /der g1 afe 39 aFf Aiarsil § U ud® e & g R Sa
15 fob A/ ©e1 8 dl 12 BT & ugiq aiFf Arored & s o gl gril -

1. 3.6 T AT,

2. 5.6 T Hl.

3. 6.0 T Al
4, 7.2 fo .
Options :
71087043173 1
71087043174. 2
71087043175. 3
71087043176. 4

Question Number : 25 Question Id : 71087010832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following letter series and identify the next term
ace, thj, kmo,

1. npr

2. rtv

3. prt

4. uwy
Options :
71087043177. 1
71087043178. 2
71087043179. 3
71087043180. 4

Question Number : 25 Question Id : 71087010832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafdiiad auf - A W IR BT 3R 3T Ug $i UgaH Hield ;
ace, thj, kmo, ____

1. npr

2. rtv

3. prt

4, uwy
Options :
71087043177. 1
71087043178. 2
71087043179. 3
71087043180. 4

Question Number : 26 Question Id : 71087010833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List 11
Theories Philosophers
A. Episteme and Doxa . Aristotle

B. Potential and Actual being Il. Hegel

C. Vyavaharika and Parmarthik lIl. Sankara

D. Rational and Actual IV. Plato

Choose the correct answer from the options given below:

TA-LB-1I,C-1IIL,D-1IV
2ZA-1IL,B-N,C-1V,D-I
3A-ILB-IV,C-1I,D-1
4 A-IV,B-LC-lILD-1
Options :

71087043181. 1
71087043182. 2
71087043183. 3
71087043184. 4

Question Number : 26 Question Id : 71087010833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l

Fgid MHEIEED
A. IO qur Ste . 3R]
5. ¥Ud Ud IRad® wiig RIS
C. A9l Ud URArda 11 =T
D. difdhds Ud aRdidd V. el
e fou e fadedl O Uel fddey U :

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-1I,D-1
4A-IVB-I,C-1,D-1
Options :

71087043181. 1
71087043182. 2
71087043183.3
71087043184. 4

Question Number : 27 Question Id : 71087010834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What type of cognition is beyond the ambit of perception?

1. Anumiti

2. Upamiti

3. Nirvikalpaka pratyaksha
4. Savikarpaka pratyaksha
Options :

71087043185. 1



71087043186. 2
71087043187. 3
71087043188. 4

Question Number : 27 Question Id : 71087010834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U0 & Gk § W gifed 3 9 S19-91 ATHHH A e 2
“gfeiad o U uel [dse ﬂﬁfl :

1. A

2. JufAfd

3. Ffd®s g uas
4, Gidpcad T
Options :
71087043185. 1
71087043186. 2
71087043187. 3
71087043188 4

Question Number : 28 Question Id : 71087010835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Golden mountain is fiery because it is smoky'
Which type of fallacy is committed by the above inference?

1. Asraya siddhi

2. Svarapa siddhi

3. Vyapyatva siddhi
4. Savyabhichara



Options :

71087043189. 1
71087043190. 2
71087043191. 3
71087043192. 4

Question Number : 28 Question Id : 71087010835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e Udd Y g Fifds 98 YHdH & 39 3-aH § hH-91 galHE § ?

1. YT
2. awy fafg
3. AIAG
4. GANER
Options :
71087043189. 1
71087043190. 2
71087043191. 3
71087043192. 4

Question Number : 29 Question Id : 71087010836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a proposition which is particular affirmative,

1. Subject term is distributed but the predicate is not distributed
2. Neither the subject nor the predicate is distributed

3. Both subject and predicate are distributed

4. Subject is undistributed but predicate is distributed

Options :

71087043193. 1



71087043194. 2
71087043195. 3
71087043196. 4

Question Number : 29 Question Id : 71087010836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ferd aebaray fored fasiy RduEaa el €, 98 & -

1. IR0 UT fgaRd Bid1 § IR 48 faaRa i gl &1
2. 35X IR {99 § 15 1 fadia 981 giar 2|

3. 3529 3R gy gl faaRa sid B

4. 357 f3dRd 781 B1d1 & W] 399 fadid gl g1
Options :

71087043193. 1

71087043194. 2

71087043195. 3

71087043196. 4

Question Number : 30 Question Id : 71087010837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
Concepts Schools

4. Abhava . Jainism

B. Anupalabdhi Il. Buddhism
C. Apoha lIl. Vedanta
D. Syadavada IV. Nyaya

Choose the correct answer from the options given below:

TA-ILBE-N,C-1,D-1V
2ZA-ILB-IV,C-1I,D-1
SA-IVB-IL,C-I1L,D-1
4 A-LB-ILC-1V,D-1l
Options :

71087043197. 1
71087043198. 2
71087043199. 3
71087043200. 4

Question Number : 30 Question Id : 71087010837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l
SGYRUM quary
A, YT G
B. 3Udied . ¥l
C. U8 I, deid
D. Wedig V. T
e fau e fasedl ©f @ U8l IR gHU:

TA-ILE-N,C-1,D-1V
ZA-ILB-IV,C-II,D-1
SA-IV,B-ULC-ILD-1
4 A-1L,B-ILC-1V,D-1l

Options :

71087043197. 1
71087043198. 2
71087043199. 3
71087043200. 4

Sub-Section Number : 4
Sub-Section Id : 710870310
Question Shuffling Allowed : Yes

Question Id : 71087010838 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



Study the data table and answer the questions that follow

The following table shows the maximum marks of each subject inside the bracket and
percentage of marks obtained by seven students in six different subjects in the exam

Computer
Student/Subject science |Chemistry Physics/Geography HistoryMath
(150) (130) (120) (100) (50) | (40)
Piyush 90 50 90 60 70 80
Gaurav 100 80 80 40 80 70
Mayank 90 60 70 70 90 70
Vimal 80 65 80 80 60 60
Vikas 80 65 85 95 50 90
Varun 70 75 65 85 40 60
Ashish 65 35 50 77 80 80

Sub questions

Question Number : 31 Question Id : 71087010839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What are the average percentage of marks (%) obtained by all the seven students in Physics?

1. ~82.42
2. ~74.28
3. ~86.24
4. ~95.14



Options :

71087043201. 1
71087043202. 2
71087043203. 3
71087043204. 4

Question Number : 32 Question Id : 71087010840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who obtained 60% and above marks in all subject is:

1. 4

2.5

3.2

4.1

Options :
71087043205. 1
71087043206. 2
71087043207. 3
71087043208. 4

Question Number : 33 Question Id : 71087010841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What are the aggregate of marks obtained by Mayank in all the six subjects?

1. 432

2. 456

3. 460

4. 440
Options :
71087043209. 1



71087043210. 2
71087043211. 3
71087043212. 4

Question Number : 34 Question Id : 71087010842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which subject is the overall percentage the best?

1. Computer Science
2. Chemistry

3. Math

4. Physics

Options :
71087043213. 1
71087043214.2
71087043215. 3
71087043216. 4

Question Number : 35 Question Id : 71087010843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the overall percentage of Ashish?

1. 54%

2. 68%

3. 59.66%
4.63%
Options :
71087043217. 1
71087043218. 2
71087043219. 3
71087043220. 4



Question Id : 71087010838 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension

frafafEa aifve vde fug & oo oie! B Fge # o wian ¥ o Afis ot § 9w
BT gRT U 5T 7T 3T &1 ufdwd guiat & :

He fagH | TR | ifddt |y | sfaera | afrd

EIENACLE]
(150) (130) (120) | (100) | (50) | (40)
Uiy 90 50 9 | 60 | 70 | 80
g 100 80 80 | 40 | 80 | 70
Ad® 90 60 70 70 90 | 70
[CEG 80 65 80 | 80 | 60 | 60
faarg 80 65 85 95 | 50 | 90
G| 70 75 65 | 85 | 40 | 60
3Ry 65 35 50 | 77 | 80 | 80

Sub questions

Question Number : 31 Question Id : 71087010839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it Ora faential gro difldet & urg i 7Y 3frgd ofd () F e ¢

1. ~82.42
2. ~74.28
3. ~86.24
4. ~95.14
Options :
71087043201. 1
71087043202. 2
71087043203. 3
71087043204. 4

Question Number : 32 Question Id : 71087010840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ol faudl 7 60% 3R 3TH A4S 3id UId H a1 Sl I =T 1§ ?

1. 4

2.5

3.2

4.1

Options :
71087043205. 1
71087043206. 2
71087043207. 3
71087043208. 4

Question Number : 33 Question Id : 71087010841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wid & 94! B¢ faudl & o UIdie g ?

1. 432

2. 456

3. 460

4. 440
Options :
71087043209. 1
71087043210. 2
71087043211. 3
71087043212. 4

Question Number : 34 Question Id : 71087010842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

&g fovg § urdie! &1 999 ufaeiddr 9aiH &2

1. PR fagH
2. YHOA Td
3. TTford

4. Hifdet
Options :
71087043213. 1
71087043214. 2
71087043215. 3
71087043216. 4

Question Number : 35 Question Id : 71087010843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1Y &1 99y ufaed fdar g 2

1. 54 %

2. 68 %

3. 59.66 %
4.63 %
Options :
71087043217. 1
71087043218. 2
71087043219. 3
71087043220. 4

Sub-Section Number : 5
Sub-Section Id : 710870311
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087010844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation ISP?

1. International Service Provider
2. Internet Service Provider

3. Internet Software Provider

4, Internet Service Product
Options :

71087043221. 1

71087043222. 2

71087043223. 3

71087043224. 4

Question Number : 36 Question Id : 71087010844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
"3T3 UY Ul Tiad Ug S R EU 13 2

1. 3T 9igd Uidrga
2. 3e¢e gidg Uiags

3. 32 U dmR HlaEa
4, 32 gidg Uisae
Options :

71087043221. 1
71087043222. 2
71087043223. 3
71087043224. 4

Question Number : 37 Question Id : 71087010845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the name for a web page address?

1. Directory

2. Folder

3. Domain

4. URL
Options :
71087043225. 1
71087043226. 2
71087043227. 3
71087043228. 4

Question Number : 37 Question Id : 71087010845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d9 N USH o U AH |18 7

1. STl

2. BieaR

3. SiEA

4. g SN Ud
Options :
71087043225. 1
71087043226. 2
71087043227. 3
71087043228. 4

Question Number : 38 Question Id : 71087010846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Privacy and security of user data is at stake on the Internet

Reason R: No steps are being taken by the user for the security and privacy of data

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087043229. 1

71087043230. 2

71087043231. 3

71087043232. 4



Question Number : 38 Question Id : 71087010846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

RS RUTUE . 1@ &1 ey (4) IR TR B 06 (R) I T E
HTUBYT (A) : Fe3e W SIE WG @1 (ofar 3R qR&f &ld W el 8l

dd (R) : WAIET GRI SIE1 &1 QR&T 3R Fodl g Bl WO el U o I8 2|
SRE HYHI & S | FHifed el | J el Juged Itk 44

1. (A) 3R (R) G WE1 € 3MR (R), (A) BT F1 ARATE |

2. (A) 3R (R) GHT TET § 3R (R), (A) BT T ARAT TeT &
3. (A) W61 & I (R) W1 TE1 &

4. (A) TET TR € R (R) WET 2

Options :

71087043229. 1

71087043230. 2

71087043231. 3

71087043232. 4

Question Number : 39 Question Id : 71087010847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a system software?

1. Compiler

2. Operating System

3. Application Software
4. Editor

Options :

71087043233 1



71087043234. 2
71087043235. 3
71087043236. 4

Question Number : 39 Question Id : 71087010847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e & 9 o-ar ey giedm 98 & 2

1. PUGTR

2. AR ieq

3. Ui Hiteddy
4, g

Options :
71087043233. 1
71087043234. 2
71087043235. 3
71087043236. 4

Question Number : 40 Question Id : 71087010848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is excluded from the domain of Artificial Intelligence?

1. Computer Vision
2. Machine Learning
3. Deep Learning

4. Text

Options :
71087043237. 1
71087043238. 2
71087043239. 3



71087043240. 4

Question Number : 40 Question Id : 71087010848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeied 3 4 oH-T1 S gl (nféihREgd fiefea) & sHT v aEi s ?

1. YR fau
2. {Ei afT
3. St

4. ¢
Options :
71087043237. 1
71087043238. 2
71087043239. 3
71087043240. 4

Question Number : 41 Question Id : 71087010849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are Millennium Development Goals?
A. Eradicating extreme poverty and hunger

B. Improving maternal health

C. Addressing climate change

D. Promoting gender equity and empowerment of women

E. Ensuring energy security for all

Choose the correct answer from the options given below:

1. A, B, Cand D only
2.A,C DandE only
3AB,CDandE

4. A, B and D only
Options :
71087043241. 1
71087043242. 2
71087043243. 3
71087043244, 4

Question Number : 41 Question Id : 71087010849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hedles] fary ed Fafif@d d e dE 2

A, Scdfdd FEHar iR 4@ &1 S BT

B. {1J W H YR oH

C. Sciarg giRkac- daedt FH1EH ST

D. T UM AR Afeal 9RIfdamu &I g1l oAl
£, 9T & foTe SHoil GRam gHfEd &

i U 7Y faheul # 9 U5l STk &1 99 Dol -

1. B9 A, B, C3IR D
2. PAdA, C, DIARE
3.A, B, C D3RE

4. HIdA BIARD
Options :
71087043241, 1
71087043242. 2
71087043243, 3
71087043244, 4

Question Number : 42 Question Id : 71087010850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of energy sources in terms of their heat of combustion in
increasing order

A. Methane

B. Natural fats and oils

C. Dry wood

D. Green wood

Choose the correct answer from the options given below

1. A CBD
2.D,CBA
3.D,B,C A
4.D,C A B
Options :
71087043245.
71087043246.
71087043247.
71087043248.

AW O~

Question Number : 42 Question Id : 71087010850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fofafad ol idl @ aed o1 & dad | 370 9al 3Rie! % i g dIvi ;
A, HiUT

B. UTpidd adl 3R dd

C. b DI

D. §Rd @18
fafaiad faeedl 5 9 98l I g -

1. A CBD
2.D,CBA
3.D,B,C A
4.D,C A B
Options :
71087043245.
71087043246.
71087043247.
71087043248.

AW O~

Question Number : 43 Question Id : 71087010851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Polluted rivers with very high values of Biological Oxygen Demand (BOD) may
produce a foul smell

Reason R: Anaerobic bacteria produce sulphur dioxide and oxides of nitrogen

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087043249. 1

71087043250. 2

71087043251. 3

71087043252 4

Question Number : 43 Question Id : 71087010851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -
HBU (a) - Sfa® Siadior A7 @ 2 SY) B HH! 3w T ardl Ugud Jaal o g M1dl g
dd (R) : "TRIfdD daIRAT bR SRHS AR Ao b HFRISS Ual dd 6|
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬂ?(mr (A) BT eI SRS ol o

3. (A) W81 & U (R) W1 T8 |

4. (A) W8l Tl & U (R) T&I B

Options :

71087043249. 1

71087043250, 2

71087043251. 3
71087043252. 4

Question Number : 44 Question Id : 71087010852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



High hazard wastes may contain

A. Pathogens

B. Radioactive wastes

C. Non-reactive substances

D. Corrosive substances

Choose the correct answer from the options given below

1. A, B and D only
2.A B, CandD

3. B and D only

4. A Band Conly
Options :
71087043253. 1
71087043254. 2
71087043255. 3
71087043256. 4

Question Number : 44 Question Id : 71087010852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SHfee WD SHUTIPT # A 61 Ibd & -

A. QYIS

B. S afiuldea Uiy

C. sfdish g yard

D. H&fReb ugrd

i f&u U faeedl # @ Uel I &1 98- B -
1.®ad A, B AR D

2. A, B, C3HRD

3. Had B 3R D
4, HIAA, B AR C
Options :
71087043253. 1
71087043254. 2
71087043255. 3
71087043256. 4

Question Number : 45 Question Id : 71087010853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In case of which of the following primary pollutants, the man-made contributions to global
emissions (million tonnes per year) is more compared to that from natural sources?

1. Sulphur dioxide
2. Nitric oxide

3. Methane

4. Carbon dioxide
Options :



71087043257. 1
71087043258. 2
71087043259. 3
71087043260. 4

Question Number : 45 Question Id : 71087010853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafeiaa o O forg mruftie ugue & A o dfde® I (Ufd ay e eq) & ded |
Udidd Gidl @1 qa-l § 34 o (301 B IRTGH SHiU® & ?

1. TR SOHIES
2. AI3feh AHHZS
3. die

4. PET SHFES
Options :
71087043257. 1
71087043258. 2
71087043259. 3
71087043260. 4

Question Number : 46 Question Id : 71087010854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the Universities named below, correspondence courses were initiated in 19627

1. University of Madras
2. University of Bombay
3. University of Calcutta
4. University of Delhi
Options :

71087043261. 1



71087043262. 2
71087043263. 3
71087043264. 4

Question Number : 46 Question Id : 71087010854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiad 5 O fow fayfaererd 5 ad 1962 H THHR UTdshA| & YA S T3 Ui ?

1. 29 fayfdereg

2. 9rgs fayfdeey

3. Sodl [ayfaey
4, feeit fayfaeneg
Options :
71087043261. 1
71087043262. 2
71087043263 3
71087043264. 4

Question Number : 47 Question Id : 71087010855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in feudal society of Europe
were classified under trivium?

A. Geometry

B. Astronomy

C. Grammar

D. Logic

E. Rhetoric

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087043265. 1
71087043266. 2
71087043267. 3
71087043268. 4

Question Number : 47 Question Id : 71087010855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PRY & Y GA H I TR W IaRdw) e & FHgfaRad J 9 i1 3¢ - &5 ol efean &
3{cid aefided o 71T T -

A. ST

3. e faie

C. B

D. Teh

E. O HRIARE

i f&u U faeedl # @ Uel I &1 98- B -

1. HAAA, B 3R C
2. @A B, C3RD
3. ®aAC, D 3R E
4. HAAA, D ARE
Options :
71087043265 1
71087043266. 2
71087043267. 3
71087043268. 4

Question Number : 48 Question Id : 71087010856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following categories of colleges is primarily intended for creating work ready
manpower on a large scale?

1. Autonomous college
2. Community college
3. Agriculture college
4. Technical college
Options :

71087043269. 1
71087043270. 2
71087043271. 3
71087043272. 4

Question Number : 48 Question Id : 71087010856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafeRad 5 9 feg 9ol & Aegriaenadl & WuiEe I539 Au® UAH | B 8q d9R SHRIG
1 A ST ECIE 2

1. WO Helfddreg
2. g™ Hglfaecy
3. P HeIidee™
GG AR HIFEIRE
Options :
71087043269. 1
71087043270. 2
71087043271. 3
71087043272. 4

Question Number : 49 Question Id : 71087010857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Synchronous communication takes place through which of the following technologies?
A. Video chat

B. Virtual classrooms

C. Audio conferencing

D.Wikis

E. Electronic mail

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087043273. 1
71087043274. 2
71087043275. 3
71087043276. 4

Question Number : 49 Question Id : 71087010857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g & ¥ fog deif@t & A 9§ gasiias Siuo 9fed il s 2
A. ditsgl e

B. STHTHT BHET

C. 3HITET BB

D. fafdg

. 3Igel® Ha

fFafaiad el 5 9 98l ST g4 ;

1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4, HIAD, E AR A
Options :
71087043273. 1
71087043274. 2
71087043275. 3
71087043276, 4

Question Number : 50 Question Id : 71087010858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Levels of academic freedom in higher/Concerns at their levels
education institutions

. Democratic functioning in the higher education
A. Personal level system and believing each individual worthy of
attention

ll. Standard of behaviour and ethics we adopt

B. Professional level
and develop for ourselves

o l1l. Values which influence and cushion the
C. Institutional level , . ,
operation of higher education

V. Exercising personal and professional values
D. Societal level within the concept of the higher education
institution

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-1L,C-1V,D-1I
SA-ILB-IV,C-1I,D-1
4A-LB-ILC-1ILD-1V
Options :

71087043277. 1
71087043278. 2
71087043279. 3
71087043280. 4

Question Number : 50 Question Id : 71087010858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tdi-1 H 3= &0 Geurell § sfdreifdm wWaadl & W) ®f aul Idi-1l § 39d Yat of g2 gl
i1 DI Gall-11l & Ty GHferd Hifere :

gal-| -1l
A, Sifadd |1 3= F21e Uuliell § diedite SHeRU R Udd 9aH
LS fdd DI &Fdl H [3yrg &1

°- 1. R GRT 303 R S0TT o aret 3R s Rid e s

W' E gIel geR 3R Afddd &I TR

;q 1. 3 I8 & URETeH @ gHIidd SR Yo §9HaId Jed

D. G |Iv. 3= RI&T W13l Bt GURUN H sfaaird R suaaiiasd
TR el &l deR H Tl
Fafaiad Aol § ¥ 98 S 4 -

T.A-IV,B-1I,C-1,D-1
2ZA-1,B-1,C-1V,D-1I
3A-ILB-IV,C-1I,D-1
4 A-1L,B-II,LC-1I,D-1V
Options :

71087043277. 1
71087043278. 2
71087043279. 3
71087043280. 4

PART II Library and Information Science

Section Id : 710870254
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870312
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087010859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who developed the ABX model of communication?

1. Dean C. Barnlund

2. Westley & Maclean

3. Shannon & Weaver

4, Theodore M Newcomb
Options :

71087043281. 1
71087043282 2
71087043283. 3
71087043284. 4

Question Number : 51 Question Id : 71087010859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TOR &1 U ol Uag Alsd g+ oo faar ur 2

1. S EL 9 ds

2. 3% QU Adpaig
3. R UU8 faw

4. OISR tH oI
Options :
71087043281. 1
71087043282. 2
71087043283. 3
71087043284. 4

Question Number : 52 Question Id : 71087010860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who has developed the 'Geneva Declaration of Principles'?

1. WSIS

2. UNESCO

3. IFLA

4. WIPO
Options :
71087043285. 1
71087043286. 2
71087043287. 3
71087043288. 4

Question Number : 52 Question Id : 71087010860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“Torrar fEarie 3t Ui exa foad dur foar g2

1. S&Y TH 35 TH
2. gH%n!
3.3ME TH T U

4. S&g 3775 Ut ot
Options :
71087043285 1
71087043286. 2
71087043287. 3
71087043288. 4

Question Number : 53 Question Id : 71087010861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is Marrakesh Treaty of WIPO?

1. Protection of Government Publications.

2. Protection of authors' rights in the digital environment.
3. Facilitates books for visually impaired.

4. Protection of Olympic symbol from commercial use.
Options :

71087043289. 1

71087043290. 2

71087043291. 3

71087043292. 4

Question Number : 53 Question Id : 71087010861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sy 313 Ul 3l BT AR GHSd 6 ?

1. TOR & DT BT G&I

2. T&fored T & cradl H SfIdRT & TRem

3. SPEIRIT ARl &l Y] & i UaH Bl

4. HdfU® & ulide s &1 aiftiicd® IUdRT § T&U
Options :

71087043289. 1

71087043290, 2

71087043291. 3

71087043292, 4

Question Number : 54 Question Id : 71087010862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
When knowledge is derived by employing logic and reason over sensory experience, it is
termed as

1. Empiricism
2. Rationalism
3. Historicism
4. Pragmatism
Options :
71087043293. 1
71087043294. 2
71087043295. 3
71087043296. 4

Question Number : 54 Question Id : 71087010862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. JqHddIg

2. dehdlg

3. 3ideradiG
4, SUUINTGIEG
Options :
71087043293. 1
71087043294. 2
71087043295. 3
71087043296. 4

Question Number : 55 Question Id : 71087010863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which Law of Library Science enunciated by S.R. Ranganathan has been reinterpreted by OCLC
Research group as, "Develop the physical and technical infrastructure needed to deliver
physical and digital material'?

1. 'Every reader his/her book'
2. '‘Books are for use’

3. 'Save the time of the reader’
4. '"Every book its reader’
Options :

71087043297. 1

71087043298. 2

71087043299. 3

71087043300. 4

Question Number : 55 Question Id : 71087010863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. YAl ¥R Bo/ee g

2. g 3R BR gol

3. U4 f& orgH o G s
4. THI 9 FgH IS
Options :

71087043297. 1
71087043298. 2
71087043299 3
71087043300. 4

Question Number : 56 Question Id : 71087010864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The theme of IFLA WLIC 2020, Dublin is

1. 4" Industrial Revolution

2. World Wide Open Access

3. Library Services for Children
4. Joint Climate Change
Options :

71087043301. 1

71087043302. 2

71087043303. 3

71087043304. 4

Question Number : 56 Question Id : 71087010864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TS U U U, Soc U 1 T 2020, SafeH @l fawg___&:

1. 9t SfIfTe wifd

2. s dI38 3G TaEg

3. AReRl Aidey ®BR faegH
4, SaT3c FZHE I+l
Options :

71087043301 1
71087043302. 2
71087043303. 3
71087043304, 4

Question Number : 57 Question Id : 71087010865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Calcutta Public Library was established largely at the initiative of

1. K.M. Asadullah
2. Lord Curzon

3. F.P Strong

4. J. H. Stocqueler
Options :
71087043305. 1
71087043306. 2
71087043307. 3
71087043308. 4

Question Number : 57 Question Id : 71087010865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043305 1
71087043306. 2
71087043307. 3
71087043308. 4

Question Number : 58 Question Id : 71087010866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who published 'DA2I 2019 'series of reports?

1. ALA

2. IFLA

3. UNESCO

4, CILIP
Options :
71087043309. 1
71087043310. 2
71087043311. 3
71087043312. 4

Question Number : 58 Question Id : 71087010866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



31T 2 3118 2019 Rl gact fbo upRia o1 & 2

1.TEA T

2. E UG AT

3. gHwn!

4. 91 3115 Uq 15 Ul
Options :
71087043309. 1
71087043310. 2
71087043311. 3
71087043312. 4

Question Number : 59 Question Id : 71087010867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who is the publisher of The Statesman's Yearbook, 1557 edition?

1. Palgrave Macmillan
2. Harper Collins

3. Simon & Schuster
4. Hachette Livre
Options :
71087043313. 1
71087043314. 2
71087043315.3
71087043316. 4

Question Number : 59 Question Id : 71087010867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043313. 1
71087043314. 2
71087043315. 3
71087043316. 4

Question Number : 60 Question Id : 71087010868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is ORCID?

1. Access to open access peer-reviewed journals.

2. Registry connecting research and researchers.

3. Commercial network for scientists and researchers.
4. Joint service of OAPEN and OpenEdition.

Options :

71087043317. 1

71087043318. 2

71087043319. 3

71087043320. 4

Question Number : 60 Question Id : 71087010868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043317. 1

71087043318. 2

71087043319. 3

71087043320. 4

Question Number : 61 Question Id : 71087010869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is Entrez?

1. Web portal for Engineering

2. Web portal for Health

3. Subject Gateway for Social Sciences

4. Subject Gateway for Humanities and Social Sciences
Options :

71087043321. 1

71087043322. 2

71087043323.3

71087043324. 4

Question Number : 61 Question Id : 71087010869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043321. 1

71087043322. 2

71087043323, 3

71087043324, 4

Question Number : 62 Question Id : 71087010870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is LibraryThing?

1. Online Library of Education

2. Bibliography of Computer Science

3. Free books in humanities and Social Sciences
4. Online cataloguing Service

Options :

71087043325. 1

71087043326. 2

71087043327. 3

71087043328. 4

Question Number : 62 Question Id : 71087010870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043325. 1

71087043326. 2

71087043327. 3

71087043328, 4

Question Number : 63 Question Id : 71087010871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the FRSAD model, when 'themas’ are semantically or conceptually connected and co-
occurring but are not hierarchically related, the knowledge organization system may explicitly
indicate and link them as

1. Associative relationships

2. Instance relationships

3. Generic relationships

4. Perspective hierarchical relationships
Options :

71087043329. 1

71087043330. 2

71087043331. 3

71087043332. 4

Question Number : 63 Question Id : 71087010871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043329. 1

71087043330. 2

71087043331. 3

71087043332. 4

Question Number : 64 Question Id : 71087010872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is a searching platform for academic and research publications?

1. Research Gate
2. Google Scholar
3. Mendeley

4. Academia
Options :
71087043333. 1
71087043334. 2
71087043335.3
71087043336. 4

Question Number : 64 Question Id : 71087010872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043333. 1
71087043334. 2
71087043335.3
71087043336. 4

Question Number : 65 Question Id : 71087010873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT a bookmarking website?

1. Delicious.com
2. Netvouz.com
3. Diigo.com

4, Revish.com
Options :
71087043337. 1
71087043338. 2
71087043339. 3
71087043340. 4

Question Number : 65 Question Id : 71087010873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043337. 1
71087043338. 2
71087043339. 3
71087043340. 4

Question Number : 66 Question Id : 71087010874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

'Podcast’ means

1. Blog post containing audio files.

2. Blog post containing video files.

3. Blog post containing audio and video files.
4. Blog post containing image files.

Options :

71087043341. 1

71087043342.2

71087043343. 3

71087043344. 4

Question Number : 66 Question Id : 71087010874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043341 1

71087043342, 2

71087043343. 3

71087043344, 4

Question Number : 67 Question Id : 71087010875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the special feature in the evaluation criteria of maps and atlases?

1. Synthetic search

2. Grid system

3. Citations

4. Credibility of the publisher
Options :

71087043345. 1

71087043346. 2

71087043347. 3

71087043348. 4

Question Number : 67 Question Id : 71087010875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043345, 1
71087043346. 2
71087043347, 3
71087043348. 4

Question Number : 68 Question Id : 71087010876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

DESIDOC was formerly known as

1. Bureau of Scientific Documentation.
2. Scientific information Bureau.

3. Scientific Infermation Center.

4, Defense Information Centre.
Options :

71087043349. 1

71087043350. 2

71087043351.3

71087043352. 4

Question Number : 68 Question Id : 71087010876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043349 1

71087043350, 2

71087043351. 3

71087043352 4

Question Number : 69 Question Id : 71087010877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Some terms may be related to more than one broader term and more than one set of
narrower terms.

Such relationship is called

1. Equivalence relationship

2. Instance relationship

3. Non-hierarchical relationship
4. Poly-hierarchical relationship
Options :

71087043353. 1

71087043354.2

71087043355. 3

71087043356. 4

Question Number : 69 Question Id : 71087010877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043353. 1
71087043354.2
71087043355.3
71087043356. 4

Question Number : 70 Question Id : 71087010878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT part of Administrative metadata?

1. Acquisition information
2. File characteristics

3. Relationship data

4. Use information
Options :

71087043357. 1
71087043358. 2
71087043359. 3
71087043360. 4

Question Number : 70 Question Id : 71087010878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043357. 1
71087043358, 2
71087043359. 3
71087043360. 4

Question Number : 71 Question Id : 71087010879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ISBD now contains how many areas of description?

1. Seven

2. Eight

3. Nine

4. Ten

Options :
71087043361. 1
71087043362. 2
71087043363. 3
71087043364. 4

Question Number : 71 Question Id : 71087010879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043361. 1
71087043362. 2
71087043363. 3
71087043364. 4

Question Number : 72 Question Id : 71087010880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A link in chain indexing system which does NOT represent a subject with a definite name, but
represents a connecting symbol or a digit indicating any relation is known as

1. False link

2. Missing Link
3. Sought Link

4. Unsought Link
Options :
71087043365. 1
71087043366. 2
71087043367. 3
71087043368. 4

Question Number : 72 Question Id : 71087010880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043365. 1
71087043366. 2
71087043367 3
71087043368. 4

Question Number : 73 Question Id : 71087010881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the element of the marketing mix?

1. People

2. Purchase

3. Power

4, Product
Options :
71087043369. 1
71087043370. 2
71087043371. 3
71087043372. 4

Question Number : 73 Question Id : 71087010881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafafaa d 9 A e e ST SueH S a e ?

1. 9l (People)

2. Wlig (Purchase)
3. UId< (Power)

4, qgrd (Product)
Options :
71087043369. 1
71087043370. 2
71087043371. 3
71087043372. 4

Question Number : 74 Question Id : 71087010882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT an open-source discovery interface?

1. Blacklight

2. Vufind

3. eXtensible Catalog
4. Orchid

Options :
71087043373. 1
71087043374. 2
71087043375. 3
71087043376. 4

Question Number : 74 Question Id : 71087010882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043373. 1
71087043374. 2
71087043375. 3
71087043376. 4

Question Number : 75 Question Id : 71087010883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who developed the 'Force Field Theory' of change?

1. Max Weber

2. Frederick Herzberg
3. Kurt Lewin

4. Elton Mayo
Options :
71087043377. 1
71087043378. 2
71087043379. 3
71087043380. 4

Question Number : 75 Question Id : 71087010883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043377. 1
71087043378. 2
71087043379, 3
71087043380. 4

Question Number : 76 Question Id : 71087010884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The practice of giving employees a high degree of control over their work is often considered
as

1. Job Engineering
2. Job Enlargement
3. Job Enrichment
4. Job Rotation
Options :
71087043381. 1
71087043382. 2
71087043383. 3
71087043384. 4

Question Number : 76 Question Id : 71087010884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043381. 1
71087043382. 2
71087043383. 3
71087043384. 4

Question Number : 77 Question Id : 71087010885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who wrote the first hypertext solution "Memex"?

1. Vannevar Bush
2. Judea Pearl

3. Tim Berners-Lee
4. John McCarthy
Options :
71087043385. 1
71087043386. 2
71087043387.3
71087043388. 4

Question Number : 77 Question Id : 71087010885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043385. 1
71087043386. 2
71087043387. 3
71087043388. 4

Question Number : 78 Question Id : 71087010886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is the IEEE standard for Wimax?

1. IEEE 802.3
2. IEEE 802.11
3. IEEE 802.15
4. |EEE 802.16
Options :
71087043389. 1
71087043390. 2
71087043391. 3
71087043392. 4

Question Number : 78 Question Id : 71087010886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 353353 802.3
2. 35355 802.11
3. 3535580215
4. 35333 802.16
Options :
71087043389. 1
71087043390. 2
71087043391, 3
71087043392. 4

Question Number : 79 Question Id : 71087010887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Telegraph Multiplexer was invented by

1. S.F.B. Morse
2. Emile Baudot
3. Grahm Bell
4, Konrad Zuse
Options :
71087043393. 1
71087043394, 2
71087043395.3
71087043396. 4

Question Number : 79 Question Id : 71087010887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043393. 1
71087043394, 2
71087043395. 3
71087043396. 4

Question Number : 80 Question Id : 71087010888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How many colour shades will be displayed in an 11-bite image?

1. 512
2. 256
3. 2048
4, 1024

Options :

71087043397. 1
71087043398. 2
71087043399. 3
71087043400. 4

Question Number : 80 Question Id : 71087010888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 512

2. 256

3.2048

4. 1024
Options :
71087043397. 1
71087043398. 2
71087043399. 3
71087043400. 4

Question Number : 81 Question Id : 71087010889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
OCLC released WorldCat on Blu-ray disc in which year?

1. 2008

2. 2009

3. 2010

4. 2011
Options :
71087043401. 1
71087043402. 2
71087043403. 3
71087043404. 4

Question Number : 81 Question Id : 71087010889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 2008

2. 2009

3. 2010

4. 2011
Options :
71087043401. 1
71087043402. 2
71087043403. 3
71087043404. 4

Question Number : 82 Question Id : 71087010890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The first public version of the content management system -'Ghost’ was released with which
one of the following names?

1. Content Pro
2. Typo3

3. Grav

4, Kerouac
Options :
71087043405. 1
71087043406. 2
71087043407. 3
71087043408. 4

Question Number : 82 Question Id : 71087010890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. P Ul

2. T134T 3

3. 49id
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Options :
71087043405. 1
71087043406. 2
71087043407. 3
71087043408. 4

Question Number : 83 Question Id : 71087010891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the Linked Open Data project of Thomson Reuters?

1. UMBEL

2. OpenCalais
3. GRID

4, Geo Names
Options :
71087043409. 1
71087043410. 2
71087043411. 3
71087043412. 4

Question Number : 83 Question Id : 71087010891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043409. 1
71087043410. 2
71087043411. 3
71087043412, 4

Question Number : 84 Question Id : 71087010892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of these metadata sets is NOT predefined in GSDL?

1. Dublin Core
2. PREMIS

3. RFC 1807

4, NZGLS
Options :
71087043413. 1
71087043414. 2
71087043415. 3
71087043416. 4

Question Number : 84 Question Id : 71087010892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafaa # 9 foog Hersier Ue ol off vy 31 ud # gd uRyiftd =1 faar T g -

1. A ®R

2. U1 3R 5 UH 3113 T
3. 3R U 9l 1807
4TSS Ta g
Options :
71087043413. 1
71087043414. 2
71087043415 3
71087043416. 4

Question Number : 85 Question Id : 71087010893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following measures the impact of scholarship and research through online
interaction?

1. Scientometrics
2. Altmetrics

3. Bibliometrics
4, Librametrics
Options :
71087043417. 1
71087043418. 2
71087043419. 3
71087043420. 4

Question Number : 85 Question Id : 71087010893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fagal vd Tty & uvE @ Mgfiiad § 9 oF 9 3 sifaars- siafea & ared ¥ audi g 2

1. grEemiea

2. JecHiead

3. RfsrsiaRT cumf)
4. cgeHfe

Options :

71087043417. 1
71087043418. 2
71087043419. 3
71087043420. 4

Question Number : 86 Question Id : 71087010894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Studies that are longitudinal and prospective in nature and collect information from the same
respondents are known as

1. Case Studies
2. Cohort Studies
3. Panel Studies
4, Trend Studies
Options :
71087043421. 1
71087043422. 2
71087043423.3
71087043424, 4

Question Number : 86 Question Id : 71087010894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d ey, Sl Ui H eGSR YHIad Bid & SiR 31 JuRaldisl ¥ a1 Ud &1 widl 6, 34
g =14 & ST S & -

1. HY wald

2. Mige wald

3. U9 e

4. ¢S w3Id (Ugi )
Options :

71087043421. 1
71087043422, 2
71087043423. 3
71087043424. 4

Question Number : 87 Question Id : 71087010895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT a type of measurement scale?

1. Interval Scale
2. Nominal Scale
3. Ordinal Scale
4, Ratio Scale

Options :

71087043425. 1
71087043426. 2
71087043427. 3
71087043428. 4

Question Number : 87 Question Id : 71087010895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad § ¥ &9 919 U9 &1 U6 UOR "6l 6 7

1. 33ad W d (3a3Td THM)

2. 9T W d (@UTES A
3. Hifed whd (HHYdD JHH)
4. 3 Thd (HUTd THF)
Options :

71087043425. 1

71087043426. 2

71087043427. 3

71087043428, 4

Question Number : 88 Question Id : 71087010896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In a sampling procedure, if you select every 10™ name on a list or every 15" house on a street,
it is known as

1. Deliberate sampling

2. Simple random sampling
3. Systematic sampling

4. Stratified sampling
Options :

71087043429. 1
71087043430. 2
71087043431. 3
71087043432. 4

Question Number : 88 Question Id : 71087010896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gl 3119 Ueb R Usia H fhdigl & U 10d A8 3R foodl el & Ul 15d OR &I 98-
B ©, dl SHB! fhg A 4 T A1 & ;

1. gidamia ufaagq (Sferare Jmfem)

2. GIURY] Tefes® Uiagad (Rwad a8 Iafer)
3. THaryd Ufagaq (Rredfes dwafem

4. Tt Ulcagq (L dhrgs I

Options :

71087043429. 1

71087043430. 2

71087043431, 3

71087043432, 4

Question Number : 89 Question Id : 71087010897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who will be considered for the Access Point of the Main Entry for the following book
according to AACR-117

Title page: Buildings/by/Ralph E. Ellsworth
Shelving/by/Louis Kaplan

Strange warehouses/by/Jerrold Orne

1. Buildings

2. Ellsworth, Ralph E.
3. Kaplan, Louis

4. Orne, Jerrold
Options :
71087043433. 1



71087043434. 2
71087043435. 3
71087043436. 4

Question Number : 89 Question Id : 71087010897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TLHLAR, -1l & AR Ficiiad e o 70 92 oy gq iR fog & e fHg R [d9R
fopar e 2

e Uy ; e / gR1/ U 3. vy
Ufcd T/ BRI/ A9 B
T dOLEIS YUY/ gRI/eRieE 3+

1. fafegw
2. U Teh §

3. HIUCH, Ta9
4, 3fH, SR
Options :
71087043433. 1
71087043434. 2
71087043435. 3
71087043436. 4

Question Number : 90 Question Id : 71087010898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘The Seven Faces of Information Literacy’ was coined by

1. Christini Susan Bruce
2. SCONUL

3. Steven Bob

4, Annette Lamb
Options :

71087043437. 1
71087043438. 2
71087043439. 3
71087043440. 4

Question Number : 90 Question Id : 71087010898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& Ua- BEY 1 35 HH el f6gd grRiufduied 8 -

1. e g g9
2. DI

3. €I 9lq

4. QIO
Options :
71087043437. 1
71087043438. 2
71087043439. 3
71087043440. 4

Question Number : 91 Question Id : 71087010899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the intermediaries of an information industry among the following
A. Invisible colleges

B. Online Vendors

C. Computer Programmers

D. Students and Research Scholars

Choose the most appropriate answer from the options given below

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087043441. 1
71087043442. 2
71087043443. 3
71087043444. 4

Question Number : 91 Question Id : 71087010899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiaa # ¥ go=1 39 & Fwaldal @ ugdH o ;
A, Sdlied Dl

B. HIaTs fdehal

C. DR AR

D. faemlf ofx 2ty o=

- fgu e fd@real & 9 el Sw g
1. Had A 3R B

2. HaAAB AR C

3. ®ad C 3R D

4. FAAA AR D

Options :

71087043441. 1

71087043442 2

71087043443. 3
71087043444. 4

Question Number : 92 Question Id : 71087010900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are components of the Knowledge Pentagon as defined by the
National Knowledge Commission (2006-2009)7

A. Creation of Knowledge

B. Knowledge Organization

C. Knowledge Management

D. Knowledge Application

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3. A and D only
4. B and D only
Options :
71087043445. 1
71087043446. 2
71087043447. 3
71087043448. 4

Question Number : 92 Question Id : 71087010900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PTG §H START 1 URHIY & SFER FEfEd 8 __ JH iayt o 92 & -
A. T &1 goH
B. M &I W3

C. I Ui

D. S SI0aRT
- feu U fasmenl & 9 98l S 9

1. Had A 3R B
2. HaAAB AR C
3. ®ad A AR D
4. HaAB 3R D
Options :
71087043445, 1
71087043446. 2
71087043447, 3
71087043448, 4

Question Number : 93 Question Id : 71087010901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the component pillars of ‘Knowledge Society” as reflected in
UNESCO's "Building Knowledge Societies"?

A. Freedom of expression.

B. Internet Governance

C. Quality Education for all

D. Information Security

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3. A and D only
4. A and C only
Options :
71087043449. 1
71087043450. 2
71087043451. 3
71087043452. 4

Question Number : 93 Question Id : 71087010901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad % 9 g%l & - F4 grsiedl & i H aftld 39 SR & 9ed T H E E ?
A. HfHeafdd &1 Waar

8. 3e-C -4

C. g & feTe Turangui e

D. T &l

i feu v fasedl & € w8l SR 9
1. Had A 3T B

2. HaAB AR C

3. BATA MR D

4. HAA A R C

Options :

71087043449. 1

71087043450, 2

71087043451. 3
71087043452. 4

Question Number : 94 Question Id : 71087010902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are e-PG Pathshala modules?

A. e-Granth

B. e-Guru

C. e-Pathya

D. e-Adhyayan

Choose the most appropriate answer from the options given below

1. A and C only
2.Cand D only
3. B and D only
4. A and D only
Options :
71087043453. 1
71087043454. 2
71087043455. 3
71087043456. 4

Question Number : 94 Question Id : 71087010902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fofataga & oF 4 S 0. ueRe Aisga & -
AS-TH

8.3 - 94

C.3-Ursd

D.S - A

i feu v fasedl & € w8l SR 9
1. HaA A 3R C

2. ®ad C 3R D

3. @AA B AR D

4. HAAA AR D

Options :

71087043453, 1

71087043454. 2

71087043455. 3
71087043456. 4

Question Number : 95 Question Id : 71087010903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the publications of National Library of India, Kolkata from the following
A. Index Translationum Indicarum

B. Index Indiana

C. Indian National Bibliography

D. A Bibliography of Dictionaries and Encyclopedias in Indian Languages, 1964
Choose the correct answer from the options given below

1. A and B only
2. B and D only
3.Cand D only
4. A and D only
Options :
71087043457. 1
71087043458. 2
71087043459. 3
71087043460. 4

Question Number : 95 Question Id : 71087010903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Pl H HRAIY AP JPTerd & FhRH HEiad H 4 DU E 2

A. SSH CFITIRAH SfEdHeH

B. 355 ST

C. 3f8T A3Ha ieamst

D. T SRIFTBT 3G [STRIS U8 THHISauSars 54 3150 ciideiv, 1964
i feu 1 famedl 7 9 wel 3w g+

1. ac A 3R B

2.®aq B 3R D

3. ®ad C R D
4. HITAARD
Options :
71087043457. 1
71087043458. 2
71087043459. 3
71087043460. 4

Question Number : 96 Question Id : 71087010904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the components of the 'PLUS' model of Information Literacy from the following
A. People

B. Location

C. Use

D. Search

Choose the correct answer from the options given below

1. B and D only
2.Cand D only
3.B and C only
4. A and C only
Options :
71087043461. 1
71087043462. 2
71087043463. 3
71087043464. 4

Question Number : 96 Question Id : 71087010904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad # I o1 WaRdl & @9 (PLUS) Alsd & gcd! &l fafed Hifet ;
A. SIFT (TT4a)

5. Safeufd (@)

C. W4T (g9)

D. Wl (9d)

i feu v fasedl & € w8l SR 9
1. ®ad B 3R D

2. ®Had C 3R D

3. HAAB R C

4, HAA A AR C

Options :

71087043461. 1

71087043462. 2

71087043463. 3
71087043464. 4

Question Number : 97 Question Id : 71087010905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are tertiary sources of Information?
A, World List of Social Science Periodicals, UNESCO

B. The Europa World of Learning

C. Advances in Electrical & Computer Engineering

D. Current Contents

Choose the correct answer from the options given below

1. A and B only
2. A and C only
3. B and D only
4. Cand D only
Options :
71087043465. 1
71087043466. 2
71087043467. 3
71087043468. 4

Question Number : 97 Question Id : 71087010905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad 5 o= & gdas Ad dH A S 2

A. GcS [0 S TR 929 GRS sHed, gl
B. & TRIUT 95 &1 AT

C. USa-4Y 3 Saifdedd US hex Sul-aiT

D. B Po

i feu 1 famedl 7 9 wel 3w g+

1. ac A 3R B

2. Had A 3R C

3. Had B 3R D
4, &3 C AR D
Options :
71087043465. 1
71087043466. 2
71087043467. 3
71087043468. 4

Question Number : 98 Question Id : 71087010906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the Subject Gateways?

A. BIOME

B. Internet Public Library (iPL2)

C. LIS Learning

D. INFOPORT

Choose the correct answer from the options given below

1. A and C only
2. B and D only
3. A and B only
4. A and D only
Options :
71087043469. 1
71087043470. 2
71087043471. 3
71087043472. 4

Question Number : 98 Question Id : 71087010906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiaad # 4 oH w favg ied § -
A SO ST TH Y

B. $c¥-Ic UfedTdh dgsiRl (IPL2)

C. U 3T T8 @i

D. SHUI

i feu e fadedl & € 9l SR 9
1. Had A 3R C

2. HAAB AR D

3. Hdd A 3R B

4. Had A 3R D

Options :

71087043469. 1

71087043470, 2

71087043471. 3
71087043472. 4

Question Number : 99 Question Id : 71087010907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are human sources of information?

A. Patent attorneys

B. Database Vendors

C. Library Consultants

D. Press and Media

Choose the most appropriate answer from the options given below

1. A and B only
2. B and C only
3. A and C only
4. B and D only
Options :
71087043473. 1
71087043474. 2
71087043475. 3
71087043476. 4

Question Number : 99 Question Id : 71087010907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Faffed 4 e AFd Ad DI 7 -
A, U= et

B. ScTdy fashdl

C. T@Iad WERGH

D. U 3R Hifsar

i feu v fasedl & € w8l SR 9
1. A A 3R B

2. HAAB AR C

3. HAd A AR C

4, ®ad B 3R D

Options :

71087043473. 1

71087043474, 2

71087043475. 3
71087043476. 4

Question Number : 100 Question Id : 71087010908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identity the online tools for cataloguing books:
A. LibraryThing

B. Good Reads

C. Scoop

D. Reddit

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3.Cand D only
4. B and D only

Options :

71087043477. 1
71087043478. 2
71087043479. 3
71087043480. 4

Question Number : 100 Question Id : 71087010908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T YD & feIU A ¢cd &I UgdH s
A, TTgsT A

B. [s<igd

C. %pu

D. XfFe

i feu v fasedl & € w8l SR 9
1. hdd A 3R B

2. &dd B 3R C

3. &ad C AR D

4. ®dd B AR D

Options :

71087043477. 1

71087043478. 2

71087043479. 3
71087043480. 4

Question Number : 101 Question Id : 71087010909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following, identity the mobile applications for image recognition developed by
Google

A. Google Goggles

B. Google Specs

C. Google Glass

D. Google Lens

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087043481. 1
71087043482. 2
71087043483. 3
71087043484. 4

Question Number : 101 Question Id : 71087010909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad # 9 7Fd gR1 oA @1 ugdH & foiu dgR 63 T/ Alagd UEliae-y & Ugdi-y
A, TS TTRTEY
EIUNEC

C. TFTa T

D. T[T o=

i feu v fasedl & € w8l SR 9
1. Had A 3T B

2. HaAB AR C

3. BAAC 3R D

4. Had A 3R D

Options :

71087043481. 1

71087043482, 2

71087043483. 3
71087043484. 4

Question Number : 102 Question Id : 71087010910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about a folksonomy?

A. It is a user-generated classification.

B. It is an activity of collaborative categorization.

C. It has precision in language and syndetic structure.

D. It reflects general populace’s language and needs.
Choose the correct answer from the options given below

1. A, B and D only
2. B, Cand D only
3. A, Band Conly
4. A, Cand D only
Options :
71087043485. 1
71087043486. 2
71087043487. 3
71087043488. 4

Question Number : 102 Question Id : 71087010910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TatREd i P Sy Bl & g d Tel 3 7
A. T8 Uo Udiad] - 9iHd e &

B. I8 U Sgdi® Sl g |

C. DI 1N 3R HHUEH a1 o URZSA 5l &
D. I8 GG SHATYRY S HNT 3R Tasadmdisi| of URaied $dl ol
- fgu e fd@real & 9 el Sw g

1. BAd A, B3R D

2. Had B, C AR D

3. BAAA, B3R C

4, BAAA, CHR D

Options :

71087043485 1

71087043486. 2

71087043487. 3
71087043488. 4

Question Number : 103 Question Id : 71087010911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following, identify the core classes as given in the ‘BIBFRAME model’
A. Agents

B. Events

C. Item

D. Subjects

Choose the correct answer from the options given below

1. A, B and C only
2. A, B and D only
3.B,Cand D only
4. A, Cand D only
Options :
71087043489. 1
71087043490. 2
71087043491. 3
71087043492. 4

Question Number : 103 Question Id : 71087010911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afeiad # © feathd Alsd | Fied 90 97 B UgaH Sl :
A, fa@di

B. Yo

c.dg

D. faug

i feu v fasedl & € w8l SR 9
1. BAAA, B3R C

2. HAA A, B 3R D

3. HadB, C AR D

4, BAAA, CHR D

Options :

71087043489. 1

71087043490, 2

71087043491. 3
71087043492. 4

Question Number : 104 Question Id : 71087010912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two of the following are benefits of the PEST analysis?
A. Analysis of the larger quantity of data at ease is feasible.

B. Heightened attention to Potential threats and dangers.

C. Helps users to understand the relationship among activities.
D. More effective long-term strategic planning.

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087043493. 1
71087043494. 2
71087043495. 3
71087043496. 4

Question Number : 104 Question Id : 71087010912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafeRed 3 4 Uxe (PesT) Aemu G Gl M BH A B -

A, S Sl &I P faadyu 44d g

B. YHIfad Midrsd Sk Warl &1 yaltdd arayr

C. foourdayl & sitd Hey gHgH H UgiTaalel ®f 9eddl ®dl o
D. 3t BRIR GBI IFHITAD FareH

i feu 1 famedl 7 9 wel 3w g+

1. ac A 3R B

2. Haa B AR C

3. ®ad C R D
4, B3 B AHR D
Options :
71087043493. 1
71087043494, 2
71087043495. 3
71087043496. 4

Question Number : 105 Question Id : 71087010913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following, identify the Management Scientists who belong to the Classical
Management Era

A. G.EMayo

B. F.W.Taylor

C. Henri Fayol

D. D. McGregor

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087043497. 1
71087043498. 2
71087043499. 3
71087043500. 4

Question Number : 105 Question Id : 71087010913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frofaaa & 9 safaed Uy g & 39-e dH G & ?
A Sits. 741

B. Uth. Sacg o

C. T B

D. SILHFR

i f&u 7Y fgoedl & @ 981 I gHU:

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087043497. 1
71087043498. 2
71087043499. 3
71087043500. 4

Question Number : 106 Question Id : 71087010914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are principles of TQM?

A. Stress on quantitative transactions only

B. Non-adaptable to changes

C. Customer focus

D. Continuous Improvement

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3. B and D only
4. Cand D only
Options :
71087043501. 1
71087043502. 2
71087043503. 3
71087043504. 4

Question Number : 106 Question Id : 71087010914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Faffea 4 g tn. s RGid a9 ¢ -
A. $ad AES gHG- IR WuEdar

B. URad &I WIBR 7 &I
C. 9T8® W & oAl

D. ad UNEHR

i feu v fasedl & € w8l SR 9
1. Had A 3T B

2. HaAB AR C

3. BAAB AR D

4. ®Had C 3R D

Options :

71087043501 1
71087043502, 2

71087043503. 3
71087043504. 4

Question Number : 107 Question Id : 71087010915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify fifth-generation programming languages from the following
A. Java

B. Mercury and OPS5

C. PROLOG

D. 5AL

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087043505. 1
71087043506. 2
71087043507. 3
71087043508. 4

Question Number : 107 Question Id : 71087010915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad Ut Hm &) giadt digl &f ggan=a .
A, JIdT (Java)

B. HFRT (Mercury) 3R 3110109, BI3d (OPS 5)

C. Uidrg

D. TH.4Y Ud. (5QL)

i feu v fasedl & € w8l SR 9
1. Had A 3T B

2. HaAB AR C

3. BAAC 3R D

4. Had A 3R D

Options :

71087043505. 1

71087043506, 2

71087043507. 3
71087043508. 4

Question Number : 108 Question Id : 71087010916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Name the scientists who developed the Google Search engine
A. Larry Page

B. David Filo

C. Jerry Yang

D. Sergey Brin

Choose the correct answer from the options given below

1. A and D only
2. B and C only
3. A and C only
4. B and D only
Options :
71087043509. 1
71087043510. 2
71087043511. 3
71087043512. 4

Question Number : 108 Question Id : 71087010916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T Td Sfo @ [A®T8 B a1 dqili-id| & T8 §ald :
A TR U

CICEAU

C. SR i

D. T35 fs=
2 feu T fowenl © € w8 Sw 9T

1. BT A AR D
2. Paa B3R C
3. HaU A 3R C
4, B3 B AHR D
Options :
71087043509. 1
71087043510. 2
71087043511. 3
71087043512. 4

Question Number : 109 Question Id : 71087010917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify unguided media of telecommunication from the following
A. Optical fibre cable

B. Infrared

C. Microwave

D. Co-Axial cable

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087043513. 1
71087043514. 2
71087043515. 3
71087043516. 4

Question Number : 109 Question Id : 71087010917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafaiad # qrdar @ e g Hitsal &1 fufed S .
A 3PS BISeR Had

B. SIBT S

C. AT3hIdd

D. I - TiFgge haa

i f&u ¢ famedl # 9 Wl I g :

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087043513, 1
71087043514. 2
71087043515. 3
71087043516. 4

Question Number : 110 Question Id : 71087010918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Quality of a digital file is affected by

A. Dynamic range

B. Data architecture

C. Resolution

D. Data integration

Choose the correct answer from the options given below

1. A and C only
2. B and D only
3. A and B only
4. Cand D only
Options :
71087043517. 1
71087043518. 2
71087043519. 3
71087043520. 4

Question Number : 110 Question Id : 71087010918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o i

[Sfored Wisd o I uiddl fddd gRI UHIfAd 8 2
A. SIS o

B. 22T b’

c. RelegzH
D. Bl THIHT
d feu T1u fadedl ¥ 981 IR 9T

1. HaA A 3R C
2. ®HaA B AR D
3. HaAd A AR B
4. Had C AR D
Options :
71087043517. 1
71087043518. 2
71087043519. 3
71087043520. 4

Question Number : 111 Question Id : 71087010919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are proprietary file formats?

A. MrsID

B. GIF

C. RAR

D. TIFF

Choose the correct answer from the options given below

1. A and B only
2. B and D only
3.Cand D only
4. A and C only
Options :
71087043521. 1
71087043522. 2
71087043523. 3
71087043524. 4

Question Number : 111 Question Id : 71087010919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad § wiita S o ey s I8
A TH 3R TH 313 o
B. Sl 3113 U

C. R U AR

D. & 315 THh UH
2 feu T fowenl © € w8 Sw 9T

1. Had A 3R B
2. ®Had B AR D
3. ®ad C 3R D
4. HAAA 3R C
Options :
71087043521. 1
71087043522 2
71087043523, 3
71087043524, 4

Question Number : 112 Question Id : 71087010920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are suitable examples of IaaS?

A. Eucalyptus

B. OpenNebula

C. FreshBooks

D. Microsoft Azure

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087043525. 1
71087043526. 2
71087043527. 3
71087043528. 4

Question Number : 112 Question Id : 71087010920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



D. HISH 1T 31edR
2 fau e famedl & @ 9dl SW g

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087043525. 1
71087043526. 2
71087043527. 3
71087043528. 4

Question Number : 113 Question Id : 71087010921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following, identify the non-Parametric tests of hypotheses
A. Chi-square test

B. F-Test

C. Signed Rank test

D. Rank Sum test

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3.Cand D only
4. A and C only
Options :
71087043529. 1
71087043530. 2
71087043531. 3
71087043532. 4

Question Number : 113 Question Id : 71087010921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afafad § @ ufteeg1 & mad i & UgaH Sifed
A. TS TR ¢
B. UM - o&c

C.UE= P
D. i ¥H ¢
d feu T1u fadedl ¥ 981 IR 9T

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. HAAA 3R C
Options :
71087043529. 1
71087043530. 2
71087043531. 3
71087043532. 4

Question Number : 114 Question Id : 71087010922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are formal experimental designs?
A. Randomized block design

B. Latin square design

C. Before and after without control design

D. Factorial design

Choose the correct answer from the options given below

1. A, Cand D only
2. A, B and D only
3.B,Cand D only
4. A Band Conly
Options :
71087043533. 1
71087043534. 2
71087043535. 3
71087043536. 4

Question Number : 114 Question Id : 71087010922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. TREf5® sild fiHdy

B. Tfc TR APy

C. Jd ud uy HafEd sifida

D. PR®I HHHA
i feu v fasedl & € w8l SR 9

1. HaAA, C3RD
2. ®HaAA A, B AR D
3. ®aAB, C3RD
4. HAAA, B3R C
Options :
71087043533, 1
71087043534. 2
71087043535, 3
71087043536. 4

Question Number : 115 Question Id : 71087010923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following, identify the System/Networks that came into existence in 1982
A, ERNET

B. FORSA

C. ENVIS

D. CONCERT

Choose the correct answer from the options given below

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087043537. 1
71087043538. 2
71087043539. 3
71087043540. 4

Question Number : 115 Question Id : 71087010923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T E P Yda, 9cad | Ea & 37 2
ASIRTIS A

B.UF 31 IR THT

CIT ST

D. Gt T H 3 3R

i feu e fdmedl & 9 98 SR g
1. A A 3R B

2. HAAB AR C

3. ®Had C 3R D

4, HAA A R D

Options :

71087043537, 1

71087043538, 2

71087043539. 3
71087043540. 4

Question Number : 116 Question Id : 71087010924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

Library Consortia Country/Place of origin
A, CURL . South Africa

B. EIFL . UK

C. SANLIC lll. Europe

D. CONCERT V. Taiwan

Choose the correct answer from the options given below:

TA-ILB-1L,C-1,D-1IV
2ZA-ILB-IV,C-1,D-1I
SA-ILB-1L,C-1V, D-1I
4 A-ILEBE-N,C-1,D-1IV
Options :

71087043541. 1
71087043542. 2
71087043543.3
71087043544. 4

Question Number : 116 Question Id : 71087010924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T HUIRIg] B 3d 3 & ®F / 5% 4 HaH &1 -

gl -| gl -1l

A. CURL . FI3Y 3Tl
B. EIFL 1. gab.

C. SANLIC 1. 1Y

D. CONCERT VAGGIE!

- feu 70 f9@eal & O U SR g :

TA-NLB-1,C-1, D-1IV
ZA-1L,B-IV,C-1, D-1I
3A-ILB-1L,C-1V, D-1l
4 A-ILB-N,C-1, D-IV
Options :

71087043541. 1
71087043542. 2
71087043543. 3
71087043544. 4

Question Number : 117 Question Id : 71087010925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

Books Authors

A. The Changing Academic Library . Jose-Marie Griffiths

B. Planning Public Library Buildings Il. John Budd

C. Introduction to Public Librarianship lll. Michael Dewe

D. Special Libraries V. Kathleen de la Pefia McCook

Choose the correct answer from the options given below:

TA-ILB-U,C-1V,D-I
2ZA-ILB-1L,C-NI,D-1V
SA-ILB-IL,C-1, D-1IV
4A-1LB-ILC-Iv, D-1
Options :

71087043545. 1
71087043546. 2
71087043547. 3
71087043548. 4

Question Number : 117 Question Id : 71087010925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| Tl -1

ELSES RREET

A. T AT Th S Age . oI - B ffteg

B. W1 ufsdd® argel fafea g REICEE]

C. 3ISa M ¢ Ufsdid agaariy IR ECINARE]

D. TIETA TIgeRId V. PUTHA & U1 APid
e fgu e fadedl o © Oel IR g

TA-ILB-1I,C-1V, D-1
2ZA-ILB-1L,C-I, D-1IV
SA-ILB-IL,C-1, D-1IV
4A-1LB-ILC-Iv, D-1
Options :

71087043545. 1
71087043546. 2
71087043547. 3
71087043548. 4

Question Number : 118 Question Id : 71087010926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Functional Explanation Type of bibliography

A, Study of the book as a physical entity |l. Systematic bibliography

B. Critical analysis of placing and timing |Il. Descriptive bibliography
of books

C. Study of books as intellectual entities |lll. Trade bibliography

D. Book bibli hi
CERC IO AN NES IV. Historical bibliography

Choose the correct answer from the options given below:

TA-IL,B-1,C-1V,D-1I
2ZA-ILB-IV, C-1, D-1I
SA-LB-I,C-1l, D-1IV
4A-IV.B-I,C-1I, D-1
Options :

71087043549. 1
71087043550. 2
71087043551. 3
71087043552. 4

Question Number : 118 Question Id : 71087010926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-l -1l
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- feu T fasbedl & 9 98l SR 9T

TA-ILB-1I,C-1V, D-1
2ZA-ILB-IV, C-1, D-1I
SA-LB-I,C-1l, D-1IV
4A-IV.B-I,C-1I, D-1
Options :

71087043549. 1
71087043550. 2
71087043551.3
71087043552. 4

Question Number : 119 Question Id : 71087010927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
Reference Source
Publisher
A, Statistical Yearbook of India l. INFA, Mew Delhi
B. India, Who's Who Il. Ministry of Culture, Government of India

, . Ministry of Statistics and Programme
C. India, A Reference Annual . .
Implementation, Government of India

D. Indian Literature Abroad IV. Publication Division, Ministry of Information and

Broadcasting

Choose the correct answer from the options given below:

TA-I,B-1,C-IV,D-Il
2ZA-ILB-U,C-1, D-1IV
SA-LB-IV.C-1I,D-1I
4 A-IVB-IIILC-1,D-1
Options :

71087043553. 1
71087043554. 2
71087043555. 3
71087043556. 4

Question Number : 119 Question Id : 71087010927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



- -l
e Frd BEANE
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B.3fSU §9 g 1. §EPid HATY, YRd TIHR
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. V. T HHF, o1 Ud TR0l
D. 33T feletR Teie :
- feu T faedl & 9 U8l SR 9T

TA-ILB-1,C-IV, D-1
2ZA-ILB-U,C-1, D-1IV
SA-LB-IV.C-Il, D-1I
4A-IVB-IILC-1, D-1
Options :

71087043553. 1
71087043554. 2
71087043555.3
71087043556. 4

Question Number : 120 Question Id : 71087010928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List II

IACR Products Types

A, Trend related publications l. Handbooks

B. Condensing publications Il. Indexing periodicals

lll. State of the art

C. Ready reference publications
report

D. Trade and industry-related publications )
IV. Technical reports

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-IV, D-I
SA-ILB-ILC-1,D-1V
4AA-IVB-I,C-1,D-1
Options :

71087043557. 1
71087043558. 2
71087043559. 3
71087043560. 4

Question Number : 120 Question Id : 71087010928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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- feu 70 f9@eal & O U SR g :

TA-LB-1,C-1l, D-1IV
ZA-1IL,B-N,C-1V, D-1
3A-ILB-IL,C-1, D-IV
4 A-IV,B-L,C-1l, D-1N
Options :

71087043557. 1
71087043558. 2
71087043559. 3
71087043560. 4

Question Number : 121 Question Id : 71087010929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List-lI

Thinker Theory

A, Max Weber . Human Relations

B. Elton Mayo ll. Administrative Management
C. FW.Taylor lIl.Theory of Bureaucracy
D.Henri Fayol V. Scientific Management

Choose the correct answer from the options given below:

TA-LBE-N,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-ILB-1L,C-IV,D-1
4AA-IVB-I,C-1,D-1
Options :

71087043561. 1
71087043562. 2
71087043563. 3
71087043564. 4

Question Number : 121 Question Id : 71087010929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-U,C-1, D-IV
2ZA-ILB-1L,C-1V, D-1I
SA-ILB-1L,C-1IV, D-1I
4A-IV.B-I,C-Il, D-1
Options :

71087043561. 1
71087043562. 2
71087043563. 3
71087043564. 4

Question Number : 122 Question Id : 71087010930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
Programming Language Inventor

A Java .. James A. Gosling
B.C Il. Guido van Rossum
C. Lisp lll. Dennis Ritchie

D. Python IV. John McCarthy

Choose the correct answer from the options given below:

TA-ILB-U,C-1V,D-I
2ZA-IV,B-ILC-1,D-1
SA-ILB-1L,C-U,D-1V
4AA-LB-IILC-IV,D-1I
Options :

71087043565. 1
71087043566. 2
71087043567. 3
71087043568. 4

Question Number : 122 Question Id : 71087010930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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- feu 70 f9@eal & O U SR g :

TA-ILB-NI,C-1IV, D-1
2ZA-IV,B-1I,LC-1I, D-1
3A-ILB-1,C-1l, D-IV
4 A-1,B-II,C-1IV, D-1
Options :

71087043565. 1
71087043566. 2
71087043567. 3
71087043568. 4

Question Number : 123 Question Id : 71087010931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Content Management Software Developers

A. Joomla . Dries Buytaert

B. Drupal Il. Hubert Burda media
C. Thunder lll. Open Source Matters
D. Textpattern V. Dean Allen

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-I
2ZA-ILB-N,C-1V,D-1
SA-ILB-1L,C-U,D-1V
4 A-LB-ILC-1V,D-1l
Options :

71087043569. 1
71087043570. 2
71087043571. 3
71087043572. 4

Question Number : 123 Question Id : 71087010931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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- feu 70 f9@eal & O U SR g :

TA-NLB-IV,C-1, D-1I
ZA-1IL,B-N,C-1V, D-1
3A-ILB-1,C-1l, D-IV
4 A-1,B-IILC-1V, D-1I
Options :

71087043569. 1
71087043570. 2
71087043571. 3
71087043572. 4

Question Number : 124 Question Id : 71087010932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

Law Explanation

A. Bradford's Law l. Number of journals/journal citations
B. Lotka's Law Il. Occurrence of words

C. Zipf's Law lIl. Author productivity

D. Garfield's Law of Concentration (IV. Law of scattering

Choose the correct answer from the options given below:

TA-IV,E-U,C-1l,D-1
2ZA-ILB-IV,C-1,D-1
SA-ILB-1L,C-NILD-1V
4 A-LB-ILC-1V,D-1l
Options :

71087043573. 1
71087043574. 2
71087043575.3
71087043576. 4

Question Number : 124 Question Id : 71087010932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| Tl -1

Rrsid ferazor

A FSHIE BT A . SFcH / Sd RIfGad! B TR
8. Aieh T &1 G . Req! ®I °fed AT

C. ToIus &1 9 Il TRE® DI IATGhHl

D. b0l & aR H IRGics &1 g |Iv. [SeRid &1 47

e fgu e fadedl o © Oel IR AU

TA-IV,E-U,C-1l, D-1
2ZA-ILB-IV,C-1I, D-1I
SA-ILB-1LC-I, D-1IV
4A-LB-ILC-1v, D-1
Options :

71087043573. 1
71087043574. 2
71087043575.3
71087043576. 4

Question Number : 125 Question Id : 71087010933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Theories Theorist

A MBO . Kelley and Walker
B. PEST Il. Peter Drucker
C.CPM ll. Albert Humphrey
D. SWOT IVV. Francis Aguilar

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-I
2ZA-ILB-IV,C-1,D-1I
SA-LB-1IL,C-1V,D-1I
4AA-IVB-IILC-1,D-1
Options :

71087043577. 1
71087043578. 2
71087043579. 3
71087043580. 4

Question Number : 125 Question Id : 71087010933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| I -1l

fraid RS

A TH S S . el AR IR
B. 013 Tg ot 11, dieX gat
c.gidiy lll. 3cac g8k
D. U9 &g 3 &1 V. Wi SgferR
e fgu e fadedl o © Oel IR AU

TA-ILB-IV,C-1, D-1
2ZA-ILB-IV, C-1, D-1I
SA-LB-1IL,C-1V, D-1I
4AA-IV.B-IIILC-1, D-1
Options :

71087043577. 1
71087043578. 2
71087043579. 3
71087043580. 4

Question Number : 126 Question Id : 71087010934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in sequence, the following communication models in order of their emergence
A. The Dance Model of Harold Dwight Lasswell

B. Circular Model of Lee Thayer

C. SMCR Model of David Kenneth Berlo

D. Interactive Model of Wilbur Schramm

Choose the correct answer from the options given below

1. A CBD
2CDAB
3.B.ADC
4. A, D CB
Options :
71087043581.
71087043582.
71087043583.
71087043584.

AW O~

Question Number : 126 Question Id : 71087010934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafiad Suy Hisdl &f 39 38d & HHFYR HIT :
A. BRIcs 3¢ dRdd ol o4 Hisd

B. <t 44R I guiig Hisa

. ofds $Y 9adl & TH TH Ul 3R Alsd

D. AI3eR ¥H @1 3id: Thard® Algd
Fafafad fasedl & ¥ ¥gl SR giHe -

1. A CBD
2CDAB
3.B.ADC
4. A, D CB
Options :
71087043581.
71087043582.
71087043583.
71087043584.

AW N =

Question Number : 127 Question Id : 71087010935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Public Libraries Acts according to their years of enactment in ascending

order

A. Kerala.

B. Andhra Pradesh

C. Bihar

D. Mizoram

Choose the correct answer from the options given below

1.B,A D, C
2.B, DA C
3.A,D,B,C

4. A, B, D, C
Options :
71087043585. 1
71087043586. 2
71087043587. 3
71087043588. 4

Question Number : 127 Question Id : 71087010935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad ade-e Taeed HEaH @1 SHd ArFLeH @ SRIel HH H aaieyd difo :
A. Xd

B. 38y TawT

C. [ER

D. fHwIRA

-l feu Y famedl & 9 Wl 3R 9 -

1.B,A D, C
2.B, DA C
3.A,D,B,C

4. A, B, D, C
Options :
71087043585. 1
71087043586. 2
71087043587. 3
71087043588. 4

Question Number : 128 Question Id : 71087010936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in sequence the following geographical reference sources, in order of their first
publication.

A, The Statesman's Yearbook and World Gazetteer, Macmillan co.
B. The Imperial Gazetteer of India

C. Chamber's World Gazetteer

D. Merriam-Webster's Geographical Dictionary

Choose the correct answer from the options given below

1.C,D A B
2B D CA
3.D,B A C

4. A CB D
Options :
71087043589. 1
71087043590. 2
71087043591. 3
71087043592. 4

Question Number : 128 Question Id : 71087010936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



= Hiifere deH dui &1 I UYH UDHIEH & 7Y & HUR IR aeyd Hifei :
A. G W THE 3IRID US a0 TelicdR, HdiHa o,

8. g Sfufvad meifear 3w Sfear

C. dad g TTeiemR

D. HRGH - dsqey fogiired e
FafeRad faeeal # 9 981 3w gHU

1.C,D A B
2B D CA
3.D,B A C

4. A CB D
Options :
71087043589. 1
71087043590. 2
71087043591. 3
71087043592. 4

Question Number : 129 Question Id : 71087010937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Information Systems, according to their years of origin
AL INIS

B. AGRIS

C. INSPEC

0. MEDLARS

E. ENVIS

Choose the correct answer from the options given below

1.C,A B D E
2D,CABE
3BACED
4 A CEDB
Options :

71087043593. 1
71087043594. 2
71087043595. 3
71087043596. 4

Question Number : 129 Question Id : 71087010937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad a1 uunferd! &1 39! Idft & au & HHFYR T ;
A. 3T T ST TH (INIS)

B. U Sl 3R 33 UH (AGRIS)

C. 375 T g 4t 3 °f INSPEQ)

D.TAS Sl T U 3R TH (MEDLARS)

E. 3 U9 dl 315 TH (ENVIS)

fafaiad faeedl 5 9 98l I g -

1.C,A B D E
2D,CABE
3BACED
4 A CEDB
Options :

71087043593. 1
71087043594. 2
71087043595. 3
71087043596. 4

Question Number : 130 Question Id : 71087010938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the steps that are required in a general framework for compiling any IACR product as
stated by Prof. A. Chatterjee

A. Planning and preparation

B. Determination of scope

C. Initiation

D. Processing and organization of information

Choose the correct answer from the options given below

1. A BCD
2B CDA
3A,CBD
4.C, B, A D
Options :
71087043597. 1
71087043598. 2
71087043599. 3
71087043600. 4

Question Number : 130 Question Id : 71087010938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



UIh T gesil & HTOR [l 33 T Ul 3R IadIG o Yag- o [o1¢ G IhHad | HUTEd dedl
®I HHFYR T -

A, Frgie ok St
8. BIUET @I HYURT

C. HRY

D. Y1 BI UsHHUT 3R T34
Fafeiad fdmedl § 9 98! 3w gHu

1. A BCD
2B CDA
3A,CBD
4.C, B, A D
Options :
71087043597. 1
71087043598. 2
71087043599. 3
71087043600. 4

Question Number : 131 Question Id : 71087010939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in sequence, the steps involved in the Newark Charging System

A. Book and Membership cards are handed over to borrower while the book card is kept
in charging tray

B. Putting date stamp on the borrower card after taking it out from the book
C. Books are presented to counter assistant along with membership card

D. Membership number of the borrower is put opposite to the due date
Choose the correct answer from the options given below

1.D,A B C
2B CAD
3AD,CB
4.C, B, D A
Options :
71087043601.
71087043602.
71087043603.
71087043604.

AW O~

Question Number : 131 Question Id : 71087010939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



did FRTH el § siafied deal &l HHMER T :
A. JEI® 3R &=l BIS Jeidl i ¢ 16U §ld & Jdid Yead dls -HH ¢ H @1 o1l |
B. Q%@ H 9§ HdIcH & d1g Feldl & dle UR fdfd & Je I

C. T AR GGl D16 BIEc gD B Uegd ] ol 6|
D. TRId1 @I Fewgdl Tl Fad fGfd & T ferdl Sl 8|
Fafeiad fdmedl § 9 98! 3w gHu

1.D,A B C
2B CAD
3AD,CB
4.C, B, D A
Options :
71087043601.
71087043602.
71087043603.
71087043604.

AW O~

Question Number : 132 Question Id : 71087010940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in sequence, the following functional entities of the OASIS Reference Model that
occur in the digital information life cycle

A. Administration

B. Archival storage

C. Access

D. Digital management

E. Ingest

Choose the correct answer from the options given below

1.A B CD,E
2B CDEA
3.CABED
4 EBDCA
Options :

71087043605. 1
71087043606. 2
71087043607. 3
71087043608. 4

Question Number : 132 Question Id : 71087010940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



DRI YT Siia 9 H 3 aTd 3l T TH 315 UH e Alsd & HEfiRad Yhridd dal ol
HHMER T
A, TS

B. [dlfcdd HSRT

C. SMfHTH

D. 3P UsEH

E. IR
FafeRad faeeal # 9 981 3w gHU

1.A B CD,E
2B CDEA
3.CABED
4 EBDCA
Options :

71087043605. 1
71087043606. 2
71087043607. 3
71087043608. 4

Question Number : 133 Question Id : 71087010941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange expert systems in their ascending order of development
A. Mycin

B. ANSWER MAN

C. DENDRAL

D. Journal Expert Selector

E. Prospector

Choose the correct answer from the options given below

1.B,D, E A C
2ACBED
3EBCDA
4. C,AEBD
Options :

71087043609. 1
71087043610. 2
71087043611. 3
71087043612. 4

Question Number : 133 Question Id : 71087010941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afaRad fazg yonfol &1 S9! Sdfd & SRl $H H g ;

A AISRH
B. 3O

C. Sgd

D. Sl YaUe Haidex

. UREeR

Pt famedl H 9 98l 3w gHU:

1.B,D, E A C
2ACBED
3EBCDA
4. C,AEBD
Options :

71087043609. 1
71087043610. 2
71087043611. 3
71087043612. 4

Question Number : 134 Question Id : 71087010942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in sequence, the following major phases involved in a case study

A. Diagnosis and identification of causal factors as a basis for developmental treatment
B. Recognition and determination of the status of the phenomenon

C. Collection of data, the examination of the given phenomenon

D. Application of remedial measures

Choose the correct answer from the options given below

1. A BCD
2B CAD
3ACDB
4.C, B, A D
Options :
71087043613. 1
71087043614. 2
71087043615. 3
71087043616. 4

Question Number : 134 Question Id : 71087010942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



& wsl H sfdHied Mafeiad W siawusi &f HHER o ;

A. T8 IR o (3T YR & EU H b ¥d SR> &1 HaH R UgdaH
B. UREeA1 &1 RUfd &1 wigf ok FuRo

C. 3PSl HIBY 3R Tl 713 URYeHl B 9id - Tgdrd

D. SUDRI SUR! ®I AN

fFrafaRed fasmedl & 9 w8l 3w U

1. A BCD
2B CAD
3ACDB
4.C, B, A D
Options :
71087043613. 1
71087043614. 2
71087043615. 3
71087043616. 4

Question Number : 135 Question Id : 71087010943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Public Library Acts according to their years of enactment in

ascending order

A. Goa

B. Chhattisgarh

C. Rajasthan

D. Odisha

Choose the correct answer from the options given below

1. A B D,C
2ADCB
3.D,CAB
4.D,B,C A
Options :
71087043617. 1
71087043618. 2
71087043619. 3
71087043620. 4

Question Number : 135 Question Id : 71087010943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafeRad rdwil-e Jaeey Je-gHl @1 3o dF] 5iH & RG] HAMHR T :
A. Tl
B. BTG

C. YT
D. 38R

frafcied fameal H 9 wgl 3w g

1. A B D,C
2ADCB
3.D,CAB
4.D,B,C A
Options :
71087043617. 1
71087043618. 2
71087043619. 3
71087043620. 4

Question Number : 136 Question Id : 71087010944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: The organizers of a public musical performance have to obtain permission from
the composer for the sound recording used

Reason R: It is necessary to obtain the licences from each and every right owner in the sound
recording prior to such a performance in public.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043621. 1

71087043622. 2

71087043623. 3

71087043624. 4

Question Number : 136 Question Id : 71087010944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl By RU TN E : U & AU (4) R GO &I db (R) Hel T g

HHGYA (A) : GIdS-E GTid UGRH & Haad] &l Wi & 715 G Rarsn & o War
(@HIISR) B A -1 Bl g

dd (R) : 9AWH® UG 9 Ugd @G Rarfan & Udd fUER - YRS I asad Ui &1
HAOFH & |

SWdd dBYHT & et H Fgifdd fddeal d§ I wgl 3w g -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) R (R) GHI W81 & U (R), (A) P Tg! oG 76l &

3. (A) Hel 8 T (R) Hel 16! o

4. (A) HE1 981 8 W] (R) 9B1 B

Options :

71087043621. 1

71087043622, 2

71087043623. 3
71087043624. 4

Question Number : 137 Question Id : 71087010945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Preparation of critical abstracts requires subject expertise and is a time-
consuming job.

Reason R: In a critical abstract, the abstractor includes his /her opinion and interpretations.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087043625. 1

71087043626. 2

71087043627. 3

71087043628. 4

Question Number : 137 Question Id : 71087010945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl By RU TN E : U & AU (4) R GO &I db (R) Hel T g

HYHYA (A) : [GdT-TdHS TR & FH0r & foe faug o giasidn siawad & Sk S99 9gd HiU®
99 T & |

ad (R) : fodaTa® OR H fGdg® Su-! T4 TUT Arasd &f 2Hd &l ol
SWdd dBYHT & et H Fgifdd fddeal d§ I wgl 3w g -

1. (A) AR (R) THI LT § 91R (R), (A) T &1 BN EN

2. (A) 3R (R) G HE1 & T (R), (A) BT §E1 ARG ] & |

3. (A) WE1 & U (R) W1 81 |

4. (A) &l 7ol © TXq (R) TSI €|

Options :

71087043625. 1

71087043626. 2

71087043627. 3
71087043628. 4

Question Number : 138 Question Id : 71087010946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Data normalization is intended to allow better matching.

Reason R: As users are always precise in the placement of such works as diacritics
and commas.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043629. 1

71087043630. 2

71087043631. 3

71087043632. 4

Question Number : 138 Question Id : 71087010946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl Sy RUTUE : U B SHHHYH (A) 3R GO DI dd (R) Bel T & |

DY (A) : AP B GHEFIHI BT ARG II9 AT & 5

dd (R) : SUNTHA Ged Weve gl aur areifaw™ @1 & FraeH & fow gee Roafg eid 2
SUYdd Bl B 3Tl H gl YAl W [FaR Siferg iR FafaRed # 9 98l fdbe g

1. (A) 3T (R) GHFT Tl & 31X (R), (A) BT el ARAT &

2. (A) AR (R) GHT W1 € U (R), (A) BT Tl ARHAT o1 ¢ |
3. (A) el & UR=] (R) 7Taid 5|

4. (A) TTETd 8 IR (R) 9B B

Options :

71087043629. 1

71087043630. 2

71087043631. 3

71087043632. 4

Question Number : 139 Question Id : 71087010947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: In the present online environment, there is no need for librarians to evaluate
reference sources on the web.

Reason R: There are publications which help the librarians to select and evaluate the reference
collection for a particular library in print or online.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087043633. 1

71087043634. 2

71087043635. 3

71087043636. 4

Question Number : 139 Question Id : 71087010947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl By RU TN E : U & AU (4) R GO &I db (R) Hel T g

HBUT (A) : AT TS AdaR0 3, [Radbraaiasi gRI 6 1) Suds gy aidl &
HedidH &3 ©l By d93d ol o

dd (R) : U8 UBIRH § Sl Geaderaresi & e it eadiad | ©U gu iyl g deH
TUe! & 90 qul Hodi- § 9gdd ¢ |

SUad HYAT & 1D | GiHI HYHl IR fdaR it SR FHifdd H 9 98 i 9-u

1. (A) 3T (R) GHFT Tl & 31X (R), (A) BT el ARAT &

2. (A) AR (R) GHT W1 € U (R), (A) BT Tl ARHAT o1 ¢ |
3. (A) 981 § U= (R) 70 B |

4. (A) TTETd 8 IR (R) 9B B

Options :

71087043633. 1

71087043634. 2

71087043635. 3

71087043636. 4

Question Number : 140 Question Id : 71087010948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and other one labelled as

Reason R

Assertion A: On decompression of a compressed zip file, the data loss is minimal.

Reason R: Zip data compression technique is based on lossy compression.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087043637. 1

71087043638. 2

71087043639. 3

71087043640. 4

Question Number : 140 Question Id : 71087010948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl By RU TN E : U & AU (4) R GO &I db (R) Hel T g

HUEHU (A) : TS @8iRs) o BEa & fFHdisT EienRm R siest 31 8 Tiad st
gl

dd (R) : 10 BT sfical & YUt (AU STel HRIRF) @ db-id gul Yute- (@8IRH) T S1HiRd
gl

SUddd DYl B el H Hgifd [ddedl H U ¥81 S 94 ;

1. (A) 91R (R) GHT el & SR (R), (A) BT TG BN G1

2. (A) ¥R (R) G W1 € T (R), (A) B Tl RS Tl &

3. (A) WE1 & U (R) W1 81 |

4. (A) HEl 181 8 IXd (R) Wel o

Options :

71087043637. 1

71087043638. 2

71087043639. 3
71087043640. 4

Sub-Section Number : 2
Sub-Section Id : 710870313
Question Shuffling Allowed : Yes

Question Id : 71087010949 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the given passage and answer the questions that follow

Communication on WhatsApp has been encrypted since 2016, which affords the app an aura
of security and trust, and further distinguishes it from mainstream platforms that have been
shown to compromise user privacy (Zanon, 2018). However, these claims must be measured
against countering arguments. Research has argued that WhatsApp's end-to-end encryption is
performative rather than being a core value of the company (Santos and Faure, 2018) - plus
encryption does not necessarily mean that Facebook is not in a position to collect Whats App
data (see Zanon, 2018). Yet other scholars identify encrypted chat apps as a 'safer’ space for
activists and ordinary citizens to share information and engage in civic and political
networking and action, particularly in contexts where legacy media and other social media are
heavily censored and surveilled by the state (Khazraee and Losey, 2016; Dencik, et al, 2016
Hintz, et al., 2019) Despite the perception that end-to-end encryption means that surveillance
is limited on WhatsApp, it also means that content circulates in a manner largely unregulated
and unmoderated by the platform. This can be problematic, because as WhatsApp becomes
an increasingly important channel for the dissemination of news (Newman, et al.,2018) and
meme culture (Ballesteros Doncel, 2016; Ncube, 2016; Al Zidjaly, 2017), so does it play an
important role in facilitating “information disorder” - the spread of misinformation,
disinformation, and malinformation in closed groups not subjected to any kind of platform
moderation (Wardle and Derakshan, 2017).

Sub questions
Question Number : 141 Question Id : 71087010950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0



Which one of the following is the primary reason for Whatsapp to get the trust of public?

1. User Privacy

2. Free Service

3. Encryption

4. Real-time sharing
Options :
71087043641. 1
71087043642. 2
71087043643. 3
71087043644. 4

Question Number : 142 Question Id : 71087010951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why WhatsApp encryption is performative as stated by Santos and Faure?

1. Facebook can collect WhatsApp data.
2. No end-to-end encryption.

3. Compromised user privacy.

4. No core value of the company.
Options :

71087043645. 1

71087043646. 2

71087043647. 3

71087043648. 4

Question Number : 143 Question Id : 71087010952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Why is Whatapp considered as a ‘safer’ space for citizens?

1. Heavily censored
2. Encrypted chat app
3. State surveillance
4. Easy sharing
Options :
71087043649. 1
71087043650. 2
71087043651. 3
71087043652. 4

Question Number : 144 Question Id : 71087010953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT perceived as end-to-end encryption?

1. Content is unregulated
2. Content is unmoderated
3. Unlimited Surveillance
4, Meme culture

Options :

71087043653. 1
71087043654. 2
71087043655. 3
71087043656. 4

Question Number : 145 Question Id : 71087010954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Wardle and Derakshan, what is the reason for ‘information disorder’ of
WhatApp?

1. Lack of platform moderation
2. Political networking

3. Increasingly a news channel
4. Encrypted conversations
Options :

71087043657. 1

71087043658. 2

71087043659. 3

71087043660. 4

Question Id : 71087010949 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 71087010950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043641. 1
71087043642. 2
71087043643.3
71087043644. 4

Question Number : 142 Question Id : 71087010951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. hUg® Iy UU & SIel TUE & 9hdl &
3. Tidll @1 Fieral § 9HEia
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Options :

71087043645. 1

71087043646. 2

71087043647. 3

71087043648. 4

Question Number : 143 Question Id : 71087010952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043649. 1
71087043650. 2
71087043651.3
71087043652. 4

Question Number : 144 Question Id : 71087010953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043653. 1
71087043654. 2
71087043655. 3
71087043656. 4

Question Number : 145 Question Id : 71087010954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043657. 1

71087043658. 2

71087043659. 3

71087043660. 4

Sub-Section Number : 3
Sub-Section Id : 710870314
Question Shuffling Allowed : Yes

Question Id : 71087010955 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)

Question Label : Comprehension



Read the given passage and answer the questions that follow

More than two decades ago we entered a new world where a mouse no longer referred to
Mickey; a floppy rarely described a hat, and Apple and BlackBerry became proper nouns. We
have now entered a universe where “"twittering” is no longer the preserve of birds;
communication in addition to food is "Delicious”, and to have an avatar in a Second Life does
not require the penance of an Asian mystic. We have, in short, entered the universe of
Reference2.0.

This universe has moved at such a fast clip that defining it and understanding its ramifications
continue to skitter across many viewpoints. That goal of effective reference remains timeless,
namely, the satisfaction of the user. However, the dramatic technology tocls thrown up by
Web 2.0 in which mass participation and web socialization have become both the norm and
the expectation have added a new dimension to business as usual.

Sub questions

Question Number : 146 Question Id : 71087010956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

More than two decades ago, we entered a new world where

1. A mouse referred to a longer Mickey
2. A floppy always described a rare hat
3. Apple became BlackBerry

4. Blackberry became a proper noun
Options :

71087043661. 1

71087043662. 2

71087043663. 3

71087043664. 4



Question Number : 147 Question Id : 71087010957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

We have now entered a universe where

1. "Twittering" is not the preserve of birds
2. Communication is a delicious food

3. An avatar is not required in Second Life
4. Second Life is an Asian mystic

Options :

71087043665. 1

71087043666. 2

71087043667. 3

71087043668. 4

Question Number : 148 Question Id : 71087010958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In this passage, what has moved at such a fast clip?

1. Universe of Knowledge

2. Universe of Reference 2.0
3. Universe of our world

4, Universe of second life
Options :

71087043669. 1
71087043670. 2
71087043671. 3
71087043672. 4

Question Number : 149 Question Id : 71087010959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

The goal of effective reference is to

1. Remain timeless

2. Name the user

3. Satisfy the user

4. Skitter across many viewpoints
Options :

71087043673. 1

71087043674. 2

71087043675. 3

71087043676. 4

Question Number : 150 Question Id : 71087010960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What has become both the norm and the expectation?

1. Dramatic technological tools
2. Web 2.0

3. Business

4. Mass participation

Options :

71087043677. 1

71087043678. 2

71087043679. 3

71087043680. 4

Question Id : 71087010955 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 71087010956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043661. 1

71087043662 2

71087043663, 3

71087043664 4



Question Number : 147 Question Id : 71087010957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043665. 1
71087043666. 2
71087043667. 3
71087043668. 4

Question Number : 148 Question Id : 71087010958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043669. 1
71087043670. 2
71087043671. 3
71087043672. 4

Question Number : 149 Question Id : 71087010959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087043673. 1

71087043674 2

71087043675. 3

71087043676. 4

Question Number : 150 Question Id : 71087010960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087043677. 1
71087043678. 2
71087043679. 3
71087043680. 4



